aﬁﬁiﬂ NTA ¥2/S=THUE

witem, R, 2020/ 2021

ALY

SATET Higd fgeiar Uy=a-Us( &l gt

[erfvam forfer : 24.11.2021

Read the following passage and answer the
question based on it

frafafae mriw @t ofgy 3l 3@ o amnfta
WAL 2 Ie S

The study titled, "Monetary Policy
Transparency and Anchoring of Inflation
Expectation in India” constructs an index of
monetary policy transparency for India and
examines the role of transparency in anchoring
inflation expectations. Empirical results show
that the degree of policy transparency has
indeed increased substantially since the
adoption of Flexible Inflation Targeting (FIT)
in 2016. Further, empirical evidence suggests
that inflation expectations of professional
forecasters and households were anchored, in
weak-form, in the post-FIT period, though
households' expectations did not necessarily lie
within the inflation tolernnce band. During the
transition period (between the sell-imposed
disinflationary glide-path since 2014 and
adoption of the FIT) both realized inflation and
expectations followed a declining path, which
resulted in a positive association between them.
During the pre-transition period, when explicit
inflation target was ahsent. expectations were
also reasonably anchored, albeit, at a higher
level.

“mfreh whmh e Uz dstn s
FFRIYH (ERaRyiE 34 §Ear’’ viidew o
# wim & foe iys ity oelim =1 =
Fomis aamar mar § s gEresify gt
% fearfrator o urgffea = aftran &t wa @t
¢ & amufae aftume gnie € R 2016 W T
TETERIT T (UHNTEET) W wien faRn wm=
& are ® fify umeffar & sior F ammw &
wgequl ghg g3 {1 3, srwfas W 3w
o ¢ gEigem s e Wl i
uftar @t weremify genymd twmanddt & =g
=t arafr § wws v # fley ofh fr aftand
@t gy aifrand wu # grrenify @ dm
& et = ot dermm w2014 § wTRE
Tttt agra (wrgs) Wt 3t uweEd
=t wfter fifg 99 & =@g) & I arEtas
WETEGify @ yearmd 2T avatrdt wnl wy et

foraat wfturfy 3 ofer o= wanes ddu o
) dwnw gd S emfy & e wm gee
TRTEHY Fe srguftea o, yearvmd oft, Aves
Foam w0 W @ v, agioa w5 & faw dn

Inflation expectations of which group was
empirically tested?
q fow wp @t gt
STy @t i witgrer fear war?
(a) Bolh of professional forecasters and Households
qEfAE T e TeEd sk oftant 3

(b) Neither of professional forecasters nor

Households/A TEAA &4 It T9ad &
# A & ofard @
(c) Only of Households/&ae Siant &

(d) Only of professional forecasters

Fae qEIA T ar TeEd o
Ans. (a) : T TR T I9Ed IR oREd
il wrarms @ sefas e R )
3

What has empirical evidence shown?

frefeftan F | @ srwiaes v Zatar mar
(14
(a) Actual inflation turned out to be highfﬂﬂ-‘ﬂf&'ﬁ

T 39T W@ 8

(b) Degree of policy transparency declined/Hifif
e & stw & Frme s @

(c) Degree of policy transparency increased but
afler coming into force of FIT /A TRefifa

Famdg g 8 veguw o A kA
FH & 7% H
{d) Degree of policy transparency increased
A arafefa & siw i gfz gf 3
Ans. (c) : 9 W@ Fwfan T @ 5 A aeff
siv 8 9fe @ & vy Uw A A F A F AR A
3.

Which time span has been described as the
transition period of monetary policy?

frafafaa § & fee wemafy @ iiys Hife
THT HERIUT FTeT HET AT §:

(a) 2000-2014 (b) 2008-2014

(c) 2014-2016 (d) 2016-2020

Ans. (c) : 2014-2016 | TOEY F Hifzw A @&
THTY FT TE T 2
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What happened to the anchoring of inflation
expectations?

ety gt & flofero d=sftm =

T gan?
(a) Inflation expectations anchored in a strong
from/{ETemif Sy, & &9 & e g

(b) Inflation expectations anchored in a weak-
form in the post FIT/TE 3§ &1 & 712 it @iy
i mredify searard Feie w9 R g

{c) There was a negative association between
realised and expected inflation/37{7a it T

W qEifa & AT HaY a1

(d) There was no association between realised

and expected inflation/arEfas st wfim
qETE # & W A

Ans. (b) : TR @R @ e sl ofE@ &

peregifa semed uF w A F A @) s § I
= f fiax wf

5.

Which of the
constructed?
Frrafeafas o ® ==\ gumtes a=mar mar §?
(a) Index monetary policy transparency for India
ure & fo s fif o e
(b) Index of infNation expeclations
HEESIGR IR GE e
(c) Index of monetary policy/HifZ® it Tawi®
(d) Index of transparency/TRaEfRT TaFi

following index has been

Ans. (a) : “Tfed ofed Ziglah wz dEfln st
FRIYE IR 1 e’ s anmas § v &
for st fify TR = O e T g

Read the given passage and answer the
questions that follow

Prafafas Toiw & eEgds Teet 99 T
w:u‘f%:mﬁ‘l‘m;

One argument of protection that stands up to
close economic scrutiny is the infant-industry
argument. It holds that a nation may have a
potential comparative advantage in a
commadity, but because of lack of knowledge
and the initial small level of output, the
industry cannot successfully compete with
more established foreign [irms. The infant-
industry argument for protection is correct but
requires several important qualifications. First,
such an argument is more justified for
developing nations, where capital markets may
not function properly.

6.

Second, nas experience has shown that
protection, once given, is difficult to remove.
Third, what trade protection in the form of
import tariff can do an equivalent production
subsidy to the infant industry can do better.
The reason is that a purely domestic distortion
such as this should be overcome with a purely
domestic policy such as direct production
subsidy to the infant industry. A production
subsidy is also a more direct form of aid and it
is easier to remove than an import tariff.

A better policy would be to provide a direct
subsidy to the industry. Similarly, a direct tax
would also be hetter than a tarifT to discourage
activities that give rise to external diseconomies
because the tax does not distort relative prices
and consumption.

W = UE Ad ot anffe gamafieror =
TEET AT wea § wg & gy 3o aen @
Faa wen ¢ o feedt g & ura Rt o o
TOTEY AT A B S g, W A S
arvrg o afir Ieare & e &0 W =8
oee Ay Ium geaattew fagyl wiweet
wHEAgd S gEwTEen T & urar §) v &
for, forgp-zaim amen o vt & oy v
Tgergut &t #Y amavasaT ¢

qgerT, U weh freraviier wel & forg avfues
@ J HW § e, e vy feen e §
for afy uw @ wew g fear T A 9 geen
wfew grar &) e, S s H@enor A
7o & w0 ¥ femr o wwer ¢ oIew awew
dww iy SO W wugen SAEA -
wETaAT St AT @ wEe § THET ST Uy
t 5 3w vom & fagre oie Preow =t firg
IUT F geaw I - wgrae Sl e
ot Hfa 2 & g wen aftw wa f s
TA- \gaal &1 afies gy ®u ¢ o @
T g @t g f At st @ geran
T wEA g1 Agex Hify g ol & o =t
YW TA- wEEar & W I uE wy
AETHT T T AT fRaTEeTal @ gareaTe
wH & g yew | Fgat yeaw w5 g S
Ty & vy gedi 3 e @ e T
& &

Developing countries are characterised by:

frerrargfrer Zoit =it fafirear g ¢

(a) Absemce of both money markets and capital

markets/&1 amd 3ftt it aemt 3 S
it
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(b) Absence éfcnpilal markets
Fi aruitfa
(c) Improper functioning of money markets
W a1 A | w7 T F
(d) Improper functioning of the capital markels

goft el @ i | F T T

Am.{d;:t[aﬂwrﬁmzﬁasﬁmqmmm
il ot fafmea A )

7.

Read the piven passage and answer the
questions that follow

frofafes ol @ LTEgEEs TgE 78 g
gyl & IAC ﬁﬁ'ﬂ{:

One argument of protection that stands up to
close economic scrutiny is the infant-industry
argument. It holds that a nation may have a
potential comparative advantage in a
commaodity, but because of lack of knowledge
and the initial small level of output, the
industry cannot successfully compete with
more established foreign firms. The infant-
industry argument for protection is correct but
requires several important qualifications. First,
such an argument is more justified for
developing nations, where capital markets may
not function properly.

Second, as experience has shown that
protection, once given, is difficult to remove.
Third, what trade protection in the form of
import tarifl can do an equivalent production
subsidy to the infant industry can do better.
The reason is that a purely domestic distortion
such as this should be overcome with a purely

@t 7 =@ ¥ gE, e aF e g §
fr af ©w @ dww ¥ famn W I g
w5 wran & drew, S @R w@Er e
e % WY A foenr w1 wWew ¢ IEE A
dam fry sOm @ wEged IR -
wgTaeT ¥ faar W Weer {1 RS ST T
% 5 3o yan 3 Py O Preao &t g
o & W I - wgra et g
wte fifr & # g @ =it v @ ST
- T @ e yeaw w0 § oot 3@
mqma‘ftgﬁmﬁmmﬂm
w1 wEaT & Agaw fy @y gnft fE IO w
e UW- wErEer @ g I gEn '
aTeTl & T ST fRarEeTal @y gareae
0 & Py Yo A AgA FEH G Fin
g = wier e af Iuwdt @ frever TE
=

Which of the following is a direct aid to
domestic industry?

freffea § | #a-dt wie T @ gy
wETaT ¢7

(a) Import controls/3TATd [EpEL]

(b) Import quota/HE H

(c) Patent righuﬁlﬁ & IR

(d) Production subsidy/3 &4 T- Werqdl

|Ans. (d) : 3T T-E (e 3ani 1 @ e 2 |

Llulr]nfe;tilzt p:::‘ic): :ucth. Tjs :E;'ec: pru:uc:ign 8. :lz::sdliu:::ihf:“r:H“‘fa“age and answer the
subsidy to the infant industry. A production Preforft —
suhsid;: is also a more direct form anid and it ater @ i 1{3 e
is easier to remove than an import tariff, WAl & I S
A hetter policy would be to provide a direct One argument of protection that stands up to
subsidy to the industry. Similarly, a direct tax close economic scrutiny is the infant-industry
would also be better than a tarifl to discourage argument. It holds that a nation may have a
activities that give rise to external diseconomies potential comparative advantage in 8
because the tax does not distort relative prices commaodity, but because of lack of knowledge
and consumption. and the initial small level of output, the
BT T UH AH it anfde |awufterr & industry cannot successfully compete with
THET AN AT aE & foryy T AT AR more established foreign firms. The infant-
TaaT wrAn § 5 Rt e & uw et o i inr.lu.flry argument for protection is correct but
T g &, T 7 > requires several important qualifications. First,
3 such an argument is more justified for
arwre # ofr 3mg = ynithvs =W oW @ develoni : .
eveloping nations, where capital markets may
wet wF IO geaten Rt g w not function properly.
mﬂdﬂi LEakEnl ﬂ'ﬂ Thi drar tl HTaToT & Second, as experience has shown that
fou ﬂ'rﬂ.a'gﬁ'rr oTen WE TR § ot TE &g protection, once given, is difficult to remove.
Wﬁaﬁmzl Third, what trade protection in the form of
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impaort tariff can do an equivalent production
subsidy to the infant industry can do better.
The reason is that a purely domestic distortion
such as this should be overcome with a purely
domestic policy such as direct production
subsidy to the infant industry. A production
subsidy is also a more direct form of aid and |t
is easier to remove than an import tariff.

A better policy would be to provide a direct
subsidy to the industry. Similarly, a direct tax
would also be better than a tariff to discourage
activities that give rise to external diseconomles
because the tax does not distort relative prices
and consumption.

dum & uw we w anfde gamaltar @
TTE WA AT § @ ¢ gy T awen ad
Foa w ¢ R feft g & o Rl ag A
W RIS B § weRdl &, W I &
st | afk e &t ynftvs wn o =
wed ug I geawtaa Rt vl @
WHEATGEE YeTaen TE & urer §) den &
fore, fory-agitn aven wd wh & g T W
WECAQUl FTAT @t ATavash &)
wgen, U wdh Rremwrfier g & fag afte
w7 WA g ogET, v ug feren g k
f& afz v an waw F for @ g
wigw war ¥ dew, | T d@ien A
T & w9 | femn W weer § IEe g
"W figy UM w1 WWged SRS T9-
HETAAT ST U1 I weRAT ¥ W T UR
t 5 @ yon & fagg wtg frean =1 fg
T FH yeer IR TW- weae S g
we i & f 7w ol e f SwrE -
wETaAT & afts yerw = ¢ ol 3 amam e
& gern o afires amarh ¥ gEmm S owaar f
gy Ay ag ¥t &% 3om = yerw w=- wEraar
& I yEw g IFEE @ W
framemdt = e w0 % fag e @
g Yy &1 E wie ag & Ay ge it
Iuw & Prewor =f & f
Which is the most appropriate instrument of
trade protection?
AT W7 T WA IUGYE WA - 1 i?
(a) Export tariff/frafa [
(b) Import tariff/3 @M
(c) Nnn-lariffbarricrs"ﬁl-?lr—m' st
(d) Production subsidy/3tRES - HE

Ans. (d) : R HE F FA9 39 @A ITEA T

- TerEm 21

Read the given passage and answer the
questions that follow

frafafas moin #t wAgEE TgEt B T
WAl & IW EfA:

One argument of protection that stands up to
close economic scrutiny is the infant-<industry
argument. It holds that a nation may have a
potential comparative advantage in a8
commuodity, but because of lack of knowledge
and the initial small level of output, the
industry cannot successfully compete with
more established foreign firms. The infant-
industry argument for protection is correct but
requires several important qualifications. First,
such an argument is more justified for
developing nations, where capital markets may
not function properly.

Second, as experience has shown that
protection, once given, is difficult to remove.
Third, what trade protection in the form of
import tarifl can do an equivalent production
subsidy to the infant industry can do better.
The reason is that a purely domestic distortion
such as this should be overcome with n puorely
domestic policy such as direct production
subsidy to the infant industry. A production
subsidy is also a more direct form of aid and it
is easier to remove than an import tariff.

A hetter policy would be to provide a direct
subsidy to the industry. Similarly, a direct tax
would also be better than a tarifl to discourage
activities that give rise to external diseconomies
because the tax does not distort relative prices
and consumption.

e W uE Wk W enfde gawwfiger wmw
TEHT ATHAT &y § ag ¢ Rryy Imh aver wd
goa wrrn § o feelt g & arw et g |
[T ETE SEAT B WAl §, T A &
ang 4 i Ime = ynftvs w0 amr =5
e g IO gemattaa RRy wheet

AHEATqd S T ¢ & arar &1 Heenr &
fore firgp-saim aren o wE & T sER o
WEwrqul ITal @ Savadmar £

ugern, Uan ek fammayier e & fog s
wrd 7 W ¥ gEn, Jve g% feen ga §
fr ofz ww aw www ¥ fem W @ g
wfeT grar & dfao, S = g araw
Tew & we o famr o wwer §oIeR A
dnwr B U @ Agew IS -
wETaar 2T fear @ waen €1 TEE I O
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tf&:#ﬁmthﬁzﬁqma&ﬁm

I W FEaE IeTE - wgraen et fagrs
we Hifr ¥ & 0 w5 wfpw e # I
- wETE @ aftw yaw w9 ¢ afr @
AT Y[R W g o aifire amart @ weran
T www &) dgew fify g oot fE s @
vy TE- wgEer § W I g A
ITETHT T W EaTe RRaTEETl = gt
=t & forg e | Aget e w0 g wditn
ug & Ay geal afw suvn & fPrewor
T

The obstacles for an industry to compete with
more established foreign firms are due to:

geafra faeft yivgri @ gamaen s # Rt
Fo & frw wrr & amand andt §2
(a) Lack of flexibility/riieies &1 9=
(b) Lack of human resources/ST-d WHNH] &1 379

(¢) Lack of know-how and initial small level of
output/FH T 39E 3R F= 1 AR T 9m

(d) Lack of markets/arm &1 3@

Ans. (c) : Geaita R sfert & gaeen s F
M @ TF T 3vE AR I F YT T8 5§
w0 | and s £

10.

Read the given passage and answer the
questions that follow

frafafea o # wTEgdE veet go T
F?ﬂ"'f %? I 'Eﬂ'ffﬂ[:

One argument of protection that stands up to
close economic scrutiny is the infant-industry
argument. It holds that a nation may have a
potentinl  comparative advantage in a
commaodity, but because of lack of knowledge
and the initial small level of output, the
industry cannot successfully compete with
more established foreign firms. The infant-
industry argument for protection is correct but
requires several important qualifications. First,
such an argument is more justified for
developing nations, where capital markets may
not function properly.

Second, as experience has shown that
protection, once given, is difficult to remove.
Third, what trade protection in the form of
import tariff can do an equivalent production
subsidy to the infant industry can do better.
The reason is that a purely domestic distortion
such as this should be overcome with a purely
domestic policy such as direct production

subsidy to the infant industry. A production
subsidy is also a more direct form of aid and it
is easier to remove than an import tariff.

A better policy would be to provide a direct
subsidy to the industry. Similarly, a direct tax
would also he better than a tariff to discourage
activities that give rise to external diseconomies
because the tax does not distort relative prices
and consumption.

Wy w TE weh W anfdw gewwfiaor &
T TR T ¢y & foryy S aven W
v v § s R g & o e g o
WRATER T SIgAT § WAl §, O T &%
sara # afr Ieare S ynftve ww wEn =
wed @y I geattan fadeht wlieet @
AEeAgdE YEaeT TE & arr {1 Hw
forg, - aren s & T T o
WERIqUl YT @t Smavasar g1

g, tan wdh fammviier el & fag s
w7 T g e, sgva g fem g ¥
& aft uw aw dww € faar @ 3@ e
wiET B & drEw, S s e T
= & wu A fam W v ¢ eew dww
dww fitg] SO @ AWgew WA (-
TEraaT 2aT e W OEAr ¥ TS FR0 Og
t s v & fayrg wie Pregn =t firg
T B wey ST T wErEe S s
i fife | f g = arfyw) we f S
o= wgaa & dfts yaw w0 § 3w @
AT YF W AT ° i A 7 gera
W A ¢ e iy @ @ s osom o=
YR U9- wgrEer & W T g s
ATETH &Y T AT RRaraendl WY gareaEe
FA & T e | gt waw F g s
g & wnw geat oft sgant @ Preawr o
T 8

Which of the
preventing external diseconomies

forafafga o | S=-w1 arg emdt @t T A
st g §?

(a) A direct tax/Fras T

(b) Production subsidies/3/@E" T&- TgEAO

(c) Tanfl/Tc=
(d) Trade policies/smaR Hiftrai

following is effective in

Ans. (a) : STE STl &1 Va4 § N a0 W9 e 2 |
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11.  Which of the following measures would result
in an increase in the money supply in the
economy?

frefafes & @ s o & wemawsw
arefezarvar ® wn amgf F gy geft?

A. Purchase of government securities from the
public by Cenwal Bank/F=Za &% zmr
SRR | W Sl & ahE

B. Deposit of currency in Commercial Banks by
the public/SFEMMRY 2 A a3 # g7
ELIENC|

C. Borrowing by the government from the
Central Bank/ST&R 21T F219 45 § F07 a1

D. Sale of government securities to the public by
the Central Bank/F81d 4% /0 SH&MROT &t

T siegfea &1 G

E. Minting of more money by the Central Bank
for circulation/¥Fa ¥% T ftare & fere
e g T/ qEn

Choose the correct answer from the options
given below:

H2 fou o Rl H B W I oW

wifaw;

(a) A, B and C only/dd A, B 3t C

(b) A, Cand E only/&ast A, C 3 E

(c) B, C and D only/&ad B, C 3 D

(d) B, D and E only/&9d@ B, D 3 E
Ans, (b) : Prefafan sudt & woraey sfegen § wg
smfdf & gt g -
(i) F 9% T THE A FEh s & i
(i) WS T FH 95 | T/ A0
(i) ¥ 4%z wRarem & fog sfvs 1 zend/gEm
12.

In the classical linear regression model, X; and
U, are assumed to he;

wenfata Yot amsao afza o X o Uy &
A weqaT S e § R A

(a) highly correlated/>fT Wedag &
(b) negatively correlated

r (.

& 9 3R A O O 369 &% Gedl @ g
81 @ o il (Ui) ® SR ww ¢ s = e
A (Ui) | & 929 A saf @ & (Ui) = amBm m
(Yi) & Tvz= =t ft gfm w2

13.  Which of the following conditions hold true for

factor pricing when factor market is perfectly
compelitive  and  product market s
monopolistic?

Prefafaa 4 ¥ w=-d fafral suew s

Fraior & forg wea € afy surer wrm guiaar

wftrendf § 3 IrmEs aTew vEirefts §2

A. VMP > MRP

B. Both VMP and MRP decreasing/ VMP 3th
MRP 3 7 & @ §

C. VMP <MRP

D. MRP =W

Choose the correct answer from the options
given below:

H=r fou T el § # Wl I o= o
=

(a) A, Band C only/&=d A, B 3t C

(b) A, Band D only/&aw A, B 3K D

(c) A,CandDonlylaﬁFl A,Caﬂl D

(d) B, C and D only/&=a B, C 3t D

Ans. (b) : FYA TR gf S qn S AR @ ag
TER wFEiERE ¢ @ ol stEr e aew §
A Har & fore ol & A G o A R S A A
T T T S et g @ omafan A S
0T A F Y T A AE aH X - I F FHEE
g @ st AFC = MFC | W @] @R # 37quf
Wil @ G TSR @9 & SO MRP 3% W96 e
& 4 (VMP) 3% & 1Y faw ) Iy 9w # arged
st A R 89 W W 30 (MR) a5 3
@MA (AR) § &% @ ¢ e @ s Ie
(MRP) ¥iI=1 3/E & 59 (VMP) & &9 877 MRP <
VMP Fif& MR < P (vl sfogifir § AR 71 MR %

: 3R @ A A sk T a6
TERIES ¥9 3 TEEEE ¢ qu :
(¢) not correlated/FedaS &l 8 ~
(d) positively correlated E |-'|\ AFC= MKC
FEUES ¥9 § FeHaZ § o §
Ans. () : Classical linear regression Model ; \,.E;;-MP
Yi= Py + B2 Xi+ Ui & Xi 3 Ui a5 ¥ wewsatom = : .
7dl ¥ 21 linear regerssion Model # (Ui) 0 Sz 3 oUW >
UHH_ N A T a1 i 9 sl W o O
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9 OM 3" F9Ex Tmg & S5 S S APRT
FU @) A d FH WA AT TR
o & fiw us fow orm &1 o1t TEE IemeA & e
§ T 7y T 81 sEfen T S @ 9 TC & aUeR
It A 9% 9 # 3% AC % FW 1 7 T AC
@A S R oy WA @ W gWE T g
TTER CHIYA a0 @ %1 9IS 48 A @ 6w
@ APRT ¥ 528 APBC & Wl 81 & & ¥ g

i @ =9 33 wRm

st

AC,

L

A

¥ s

H AR
T =

\HR

1] ] T »N

14. Match List I with List-11
i1 = gt @ gafe S
List-1/gEit-1 List-11Ageh-1
A. Canons of Taxation [, U. K. Hicks
FOuUE & e g, &, f=w
B. Canons of Public Il. Adam Smith
Expenditure/@daiis  uzw fim
=7 & fagm
C. Effective Incidence 1ll. Findlay Shirras
of Tax/F & Tl feet Rrmm
MY
D. Benefit received IV. Erik Lindahl
approach of Public T fHzm
Expenditure/RTd
=9 | G @9 H:
i
Choose the correct answer from the options
given below:
et fay . foraedt 3 At T b
(a) A-l, B-1l, C-llI, D-1V
(b) A-lI, B-11I, C-I, D-1V
(c) A-I1, B-1II, C-1V, D-1
(d) A-IV, B-1, C-II, D-111
Ans. (b) : T8 gafaw T
-1 -1l
A | T & foz= II. | uex fam
B. | mds =g & fagr | 111 | e fws
C. | &1 & wardl 3y L | g&few
D. | wisfm =1 & W | IV. | ofts e
Y F g Ew
15. The incidence of which of the following will

entirely be on the monopolist?

fr=fafas & ¥ =9 w1 wEfusradt w i

g atafaa g

(a) Lump-sum tax/TH¥T &

(b) None of these/sif & ¥ 1

(c) Regulated monopoly pricing

fafafod wefEm geam

(d) Specific tax/faf¥me =
Ans. (a) : THFT FX THIGHREE T G e smf
M| TEET FW A TR CHEA @ a5 9w &
I gar Fwa wafan R B @n @ e &
aaf &1 i wf woand v ouwge ofl &
for o femman mar ¢ ol @K oW | T AC AE MC
Siea @ 9 WA e 9 8| Tt MP 3

16. Which of the following is/ are true?
Prefafgs ¥ @ @=-wm vt §7?

A. Ministry of Environment and Forests in India
was established in 1985/ § wafawr g =
AreTg & T 1985 0 g A

B. Central Pollution Control DBoard was
established in 1984/551a sguw fodam &g &
weAr 1984 # g 4

C. Environment Protection Act was enacted in
1990/ gty wewor sfefrag 1990 F My
B30 411

D. National Environment Appellate Authority

Act was passed in 1977/ waiEwr adiel
Wikt Sifafaa 1977 & Wit g3 o

Choose the correct answer from the options
given below:

#re few o freedt # Wl I wT wOw
wifa:

(a) A and Dunlylaﬁﬁ AsRD

(b) A, B, C and D only/&a@ A, B, C 3T D

(c) B only/&ad B

(d) C only/&ad C

Ans. (a) : YA § gfEO1 § 99 9969 & =0 1985
f g 6 T g e &5 3 w2
1974 # & ot walawn wegw sfefam 1986 § s
23 o1 7o Uty e srdelt st sfafam 1977
# o g3

HZ-NTA 3 38 v &t Yedis & @t & B 1
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17.  Identify which one of the following statements

is INCORRECT?
frefiafea § & Tem waw St T Ffag:

(a) If XNnY=d,then X-Y =X
(b) X-Y=XNY
(c) Complement of a Universal set is a null
seVATETT AEId & T i " @
(d) Intersection of two disjoint sets is a null set
& g aqerdl @ aduEnd R wYed @
Ans.(a}:ﬂﬂmma—
(X-Y=XnY
(i) awEa §q=9d 1 & &
(iii) & 3rgTH Tl I TEES R w9 @
FaH XN Y=6Then XY = X F79 oW 21
18.

At present, for the estimation of GDP in India
at constant prices, which one of the following
years is used as the base year?

o o ura o S & ff & fiuy St o
amee & T fem Prafafea od =t amun

o & wa # warn fwar wmar 42
(a) 2000-01 (b) 2010-11
(c) 2011-12 (d) 2014-15

Ans.(c]:aﬁqﬁﬂmﬂiﬁ.ﬁ.‘ﬂ.éﬁﬁ-ﬂ?mm
e & g 2011-12 a6 & R af & ®9 § w4
e s €1 wg s @ o & fg frfg @ (1
sie |/ 31 9W) & sEly ot s @1 Re darem g
T W & GDP (HifEs fEH) sl & wam 4
i 21 e darem AR, & wEey f o ae @ ol
F ford W9 wETw I ¢ R IR W a7 Ue
g Praffta 3 &1

19.

Inequalities in income are measured by which
of the following?

Prefafas § fead gro sma o sramraet @
Ay AT §?

A. Lorenz Ratio/@sl 3T

B. Theil's Index/3560 Ya&is

C. Palma Ratio/9TeH1 3791

D. Deprivation Ratio/39 319

Choose the correct answer from the options
given below:
Hrer fag g Rt # A Wl I @ WO
fenfire:
(a) Aand B rmly:’%?l A 3R B

(b) A and D only/&ae A 3f D

(¢) A only/&ad A

(d) A, B and Conly/ ¥aa A, B3t C

Ans. (d) : 579 EgEael S WA % faw e
g & WA e s g - @i I - aed ah
@t 1905 & dFmal = A Pt fRw @t 9% @
v R 31 TG @ i @ R w § W
ws faftm 3ma & sfvm & =2 21 d5ew qEas - i
ToEF g w1 & fdw s s s snfds am
weits 98 W Feha oE @ A § g wwm R
A R W YW - WO A F A6 TR 3
I wit afR 0% A & el & seqom & w0 A
gftitn R mar @ S TEE N9 40% F R @ Aoka
1 7z FoEl ¥ avdemed e o & = W amafa @)

20. Which of the following stalements are
CORRECT in regard to FDI in India in FY
2020?

Erffiaa § | F=- } o favfa of 2019-

2020 ¥ wrea W wew v P & ddu A

Wi ¥?

A. Share of services sector is highest

&7 T fam i )

B. Share of infrastructure activities is highest
e We framed @1 feew st 81

C. Share of computer hardware and software is
in the second position/FFEX EEagt 3k
Hiozam & frem Rt w=m w2

D. Share of telecommunications is highest

R T e s 2

Choose the correct answer from the options
given helow:

#r=r fau my Rreedr § | W@ I @ WA
.

(a)Aand C onlyﬂﬁﬂ AR C

(b) Band C unlyﬂﬁﬁ Bk C

(c) B unlylan_*ﬁl B

(d) Cand D only/#a C 3t D

Ans. (a) : frcfta af 2019-20 7 s 7 wew feeh faw
o dar 87 ¥ Ren sfwa o aa gz egam o
wieaa &1 fean g @@ w

ad 2020-21 ¥ W 3 81.97 fafeaw swfta =few FDI
simale @ gl af 2021-22 & TR T A 43,12
fafera srftat 2fem &1 FDI sinafe st gam ad 2021-
22 & R oud & kR Fw €3 T 16.73 Rfm
st 2| 91 FDI §idadt siqate wa gam af 2020-
21 F e o § dugEe Ainad au arddat Swe
FDI 3fa=el simatz 17.55 Rfvas smfsh 2w o
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21. The independence of real variables from

changes in money supply and nominal
variables is called:

wan amgf afrr fires wdi A afteds @ el

= T AT @ Prefaiga § § W

wTen &7

(a) Classical dichotomy/a<ieta Rfemem

(b) Keynesian dichotomy/@I=Rard], fafawm=

(c) Moncyil]usiunﬂnﬁfﬁﬂ

(d) Money multiplier!ﬂﬁﬁﬂi{[ﬂ'ﬁi
Ans, (a) : T g ok it 90 4 ofteds § amR
i F @FAm F1 FEEE B-fAaee ww e 2 R-
o @ 3 § R o Fimm w0 awged &
7o Ot Fraff w2 ot g dime s & gm0 A
o aar o P @l @ awewm fredn & oif 5@
o &1 ot 7 3 fraem @ 5 snfemamn & difks i
W A wR S fege @8 wWE @ gem s s
it Fml % T W i § alaw 6 |
beicie e
212.

Given helow are two statements, one is lahelled
as Assertion A and the other is Iabelled as
Reason R

e 2t wuw faw o §: v arfirwa (A) & w
T ferflm & & 3o TaE I (R) & = A
Assertion A: A lumpsum tax imposed on a
monopolist cannot be shifted to the consumers.
Reason R: The lumpsum tax hecomes n part of
his Mxed cost and it does not affect the
marginal cost of production.

AfirRaT  (A): USTUEHEE U miiE
TEHUYR ®T W Judrersd uv sfafe =d faear
T HEH G

In light of the above statements, choose the
most appropriate answer from the options
given below

T (R) : UEyA &1 3wt Fifta smre a6
fire %t waT & oft wg 3wE it Hiwiw we
F T AT R

In light of the above siatements, choose the
most appropriate answer from the options
given below:

IR HmAET & s o, 9 few o Rreedt
o | IUGTR I E TAT W
(a) A is correct but R is not correct
A Tft # w R 9@ A ]
(b) A is not correct but R is correct

A Wt 76 & o R W R

(c) Both A and R are correct and R is the correct
cxplanation of A

A 3R 26 wé € SR, A & wh e d)
(d) Both A and R are comrect but R is NOT the
correct explanation of A/ R T &dt §

9o @ @ e T
Ans. (c) : THENEREE T ARG TEET @K @
IodrmE T AT T R S owwan s g
o ed P @ @ e @ wa ¢ ok =
FerEA Ft WA o e FA @1 3% A
st R 26T 7 € 3R, A %t o =

2).  Arrange the following United Nations
Framework Convention on Climate Change
(UNFCCC) conferences in chronological order

wreraTy witad W WY TE 6 head A
@ @ T @ @ ) Prafien wert @
IR Safeaa Fif:

A. Copenhagen Con ference/@ITEAA THGA

B. Doha Conference/STe1 THITH

C. Paris Conference/3fta w&iTH

D. Katowice Conference/Ferard qwem

Choose the correct answer from the options
given below

e few v frwed § @ Wl I W WO
it
(a) A, B,C,D (b) B,C,D, A
(¢) C,D,B, A (d) D,C,B, A
Ans. (a) : SETT TR T GYH TZ F HAad Sa9
(Q.CA.UE.H1.2.) TeeH &1 Hartan Hed e & -
(A) FIMA F17 TowA 7 femm=t 2009 @ 18 fEEeR
2009 & #9 UNFCCC & wwam@ue # COP-15
FTA T (3FA) J gam
(B) g Geite 26 Faw A 8 R 2012
(C) Ifa were femmam 2015
(D) FEETFE TRIEH 2018

24.

Human Development Index (HDI) currently, as
published by the UNDP is calculated by using
which of the following?

g & G g ylE we frem gests
g & amd) = wdum ¥ Prafafea @ @
fawes IudIT g o @t At 7

(a) Arithmetic Mean/s&TTdIa "ng

(b) Geometric Mean/Sadg ANy

(c) Harmonic Mean/fiti& AN

(d) Quadratic Mean/f2faurdtg are
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Ans. (b) : 3G, 70 swRm A= Rerm gEeis| | 27. Match List -1 with List-11
(@A) B aigm § SR e T e ) Teft- 1 = Eft- 11| gafa St
&1 List-1/geft- List-11/geft-11
HDI = (Iir) x Teay % lon)'™ A. Menu cost 1. Monetary Policy
= 3l X Tea % Lo ﬂqm st =fif
iy wreg & WA & Fo SiET e A e B. Quantitative Easing 1. Inflation
F T Jwifam &1 1Dl @ it e | & s HATeHh T qRria
7 8 AW TEE T 0 - | % = @ &1 1990 § C. Pump Priming 111, Phillips curve
qATEE AV 2aaTie WAW (UNDP) & 2 srdwred of Tax/ATS aferes =
TEA I §F 04 ITH I A avfrd wyEwa sifeea
TE #7 au i §w A e e gEsiE (1)) D. Trade-ofT between IV. Fiscal policy
ferfem feram inflation and T A
25.  Arrange the following Committees of poverty unemployment
estimation in chronological order: Wﬁi T Femd
ffar anmem =t Proofafes wfifad = Choose the correct answer from the options
TTCTERATTAI TG given below:
A. Alagh Committee/37 #faf et faw oy Rravedi # @ wft T g
B. Lakdawala Committee/SiaTaren il (a) A-l, B-11, C-IL, DIV
C. Tendulker Cummiticclﬁaﬁiﬂ wfaf (b) A-IL, B-I, C-1V, D-IlI
D. Rangarajan Committee/TT0sH FfAf (:) :’:3 gll:’; g;l DB;I:
Choose the correct answer from the options (d) A-IV, B-lIl, C-II, D-
given below Ans. (b) : F6 Fifea g
#= few o Rreedl F F wft T @ wuw -1 i1
wife: A. T @m T
(a) A,B,C,D (b) A,C,B,D B. WIS g L s 40
(c) B,A,C,D (d) B,C,A,D C - o v Y
;rls.(n):ﬁiﬂﬂmmﬂﬂﬁﬁﬁﬂﬂﬁwﬁﬁ b - il x
(A) 3= =wfufa (1979) 28.  Which of the following measures are used by a
risk-averse person to minimize risk?
{B}mm(was) Maw @ wed w i g e W
(C) ¥ E:m (2009 AN FA & fau frafafes § @ @R
(D) = wf (2014) SRR A s
26, The items on the capital account of Balance of A. Diversification of
Payments are: . Diversification of resources
AT daeA o dui mne w8 Hen m
(a) Both Stock and Flow Variables B. Insurance of risk event/Sifig 921 1
T =i 2t |\ e = C. Total cost of resources/HHEHI &I Tl @
(b) Changes in stock magnitudes D. Value of information of risk event
w=ia uftam § szemE SiftE g2 3 THEER F
(c) Flow variables/SaT8 o Choose the correct answer from the options
(d) Stock variables/®=TH T given below:
= forsat
Ans, (c) : YT Hqaq § §of @t o @€ waw w2 ﬁ_‘”“ TR W I -
gt @ ot @ fadira yae weRfa @ d1 Tae s ity
i A s am AR SRR e (2) A, Band C only/&a A, B3 C
FAFRY SR e 21 soe W awhdE ¥ (b) A, B and D only/&ad A, B 3 D
sfmen ¥ fe a0l ¥ g Eta wd g (c) A, Cand D only/&ae A, C 3fit D
aft woil aar af fafE = afsfem e s (d) B, C and D only/&ad B, C 3t D
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2l '-I: E h |

Ans. (b) : SR & F94 At =4 27 SR @ e
FH T fre Pr=fafen o iR o 8-

(i) "amEl & e

(ii) Sifam wz=n & Fm

(iii) SfEm T2 S Sl = T

29.

Which of the following are relevant conditions
assumed by the Factor Price Equalization
theorem?

R @i wwa ot gro e da gemei

= WA e 2
A. The countries are characterized by different
factor endowments/d 3W W Rfm wnm
feTHaeE & fadram aw )

. The industries are characterized by different
production functions/d 2w s fafia ImEA
sl 9 e arer &)

. The industries are characlerized by different
factor intensities/d 3am 3 fafi araq dwm
F fadtam Tt &)

. Each country will export the commodity

which uses its abundant factor/Sed® &9
Fal = Pl Fom St e T WA W

I T g

Choose the correct answer from the options
given below:

d= feu W fawedt # # W@t I @ waA
wAfru:
(a) A, B and C only/&aa A, B #T C
(b) A, B and D only/d@d A, B 3R D
(c) A, Cand D only/@am A, C 3R D
(d) B, C and D only/&a@ B, C 3t D
Ans. (c) : 99 @ma g fagm Tm Aefafen dm
Zanadl @ a8
(i) T s Rt o ZEede & fAeem T 2
(i) 3 3am S Fafim arem Faar A Frdea aa §)
(iii) Wi 2w aegell @ frafd Ftm S e wE A
1 3I9AM F@ £
(iv) i 29 F o g @ T SR God 9 &

. Demand side of Il. Bastable
International Trade Alftred Marshall

e R @ A e IR e

Larn d

C. Opportunity cost of [II. G. Haberler
International Trade/ oft, gt
FTEE =R i
IE|L T

Real cost theory of IV, Alfred Marshall and
International Trade Edgeqworth
IMTEE SR siehs areid sk
Fretes o fEm wwad

Choose the correct answer from the options
given helow:

frer o o Pt o | Wt I g
(a) A-l, B-1V, C-1I, D-III
(b) A-L, B-1V, C-1II, D-1I
(c) A-IV, B-1, C-11, D-III
(d) A-1V, B-1, C-111, D-II

(v) uftags @ € 2
30. Match List =1 with List-11
TEft-1 = gEh-11 | gRfee it
List-1/it-1 List-Ti/agsit-11
A. Supply side of I. David Ricardo
International Trade iﬁ? e
SiTRIETg AR &
gt

Ans. (b) : T qHfem T
-1 eIl
A, Fmidm =R w1 L 2fE Rl
fia
B. simffmamm @ air IV. acdhe wvfa sk
o
C. simifm = N 1. Higswen
IEHL AT
D. smffs =mr & 1. LT Ik Sk
e A e wrefe
31. The efficiency condition in the production of

pure public good requires that the production
be carried out up to point when:

fayrg et g & Iwe § zaer fafy
% fog o artfara ¢ foF awmgm @ g T
T @ Wy W

{where MBi represents marginal Benefit of the
“th' individual and MBj represents Marginal

Benefits that accrue to the "jth' individual and
MC is the marginal cost}

wEl MBI, (i) @afvs & dimia oW &t gvrian §,
s MBj dimia @ & (j) '@t T @
e ¢ = el &, afe MC dinm ETE &

n—l
(a) MB,+) MB, >MC
J=i

n=l
(b) MB, +ZMBI <MC
=
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(c) MB, +Y MB,>MC
Jui

(d) MB, +) MB, =MC
fal

Ans. (d) : Y At 9 & SO § oW R §
fore a5 sitfem @ 6 3rree 3@ g 7@ i @ sg

n=l
MBi+ ) MBj = MC
i=]

@ MBi (i) =% & i @ & <efa 8, 3l MBj
dimr @ St (j) =@ T dfm dm @ i sk
MC Hmr = &1

32,

The Net Barter terms of trade refer to:

=T Ft v we fafa o mee -

(a) The ecxcess of import expenditures over
export earnings/Fal Il X AW =4l
@ I

ib) The ratio between export prices and import

priccﬁﬂhﬁwmmmaﬁﬁm
T

(c) The terms and conditions on which a counlry
is offered a loan in the event of balance of

payments difficulties/AavA 3 wid @
@ W F YW Hqed ) a3l @ Rl
¥ o 33 &7 e fRa T f)
(d) Tradcﬂgrccmcnlmm
Ans. (b) : ENR 1 [& aq G = & S
Prata agafl A smam awgad & St erTE i &
i 7/ v ff = fF s T @ -
P

Te=-*

P

m

T§l T, AR 3 Feg-fRfwg w @ p e @« fral
R m Imm T = F 2 Reh oy #F =R &
aw-fafma ol # gu oftad s & o & fag emam
Tt § witads & Prafn S § ofteds @1 s e
s @ & =R & TR @
@T,:% =@ 0 3t | smum a@ sfaw smafirdi
& " 2

33,

Arrange the following in chronological order in
which they were introduced:

frafafea =t 396 gaeg W a3 &
THIAEHATTATY TG

A. SDGs/TE & sh

(b) MPI/Ta & 3

(c) PQLIAS & ©@ o7

(d) HDI/T= & and

- . [
= | @ o i
B [ | a_n sl
! | | l B B — { | vy
iR 88 B == e T Y™ Sl

Choose the correct answer from the options
given below

#rot o wu freedl d | Wil I @ WA
it
(a) C,B,A,D
(c) D,C,A,B
Ans. (b) : T8 Frawn e @ -
(C) fag. wa. o (1976)
(D) Ta.E1.3m. (1990)
(B) Ta.49.30E. (2010)
(A) TH.ELS. (2015)
34.

(b) C,D,B,

A
(d) D,C,B,A

In the context of investments, which of the
following statement(s) is/’are CORRECT?
fairor & w=d o Profaflas o= § 3F @

wit /82

A. According to the accelerator model,
investment demand is proportional to change

inincomcfﬁlﬁﬂhﬂ%!ﬁ?ﬂﬁa‘ﬂqﬁm
i oftara & WA 2

. The higher the real interest rate, the higher is

the rental cost of capial/fimn € awfs
=W W AE A Iam & G @ e
ama afea @t

, Investment is a stock variable
v = =fs m

The real rate of interest is equzl to the
nominal rate of interest plus the inflation

rate/7ATH F1 TS R AW F IH T 3R
TR R & FuE i dm F awEr gf

Choose the correct answer from the options
given below:

H=r faw mu frwedt o |/ Wl I @ owOw
e
{(a) AandBonlyﬂﬁHA sk B
(b) A and D only/Fa@ A D
(c) Band C only/F=a B 3 C
(d) C and D only/&&@ C 3T D
Ans, () : 5 Ty @ fadm af 9 spdeasn @
Fa G =i SR-mim, @, vgs, s s §
o anht afz @1 Prw @ Rfsdm @ @) faw & w=d
# e Fo w2
(i) & Wza & FER FEw om smg | oftedw &
o 3
(i) R @ arafs =9 = afvs @ 3an & G @
frran @ st at
(iii) FRw 51 =74 @ el & om =is F gfz Fom
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. . v, | 1
) i |

35.  Arrange the introduction of the following taxes

in India in chronological order.

wmw W Prafafee w0 @ geemw =
THICTERUTTAT saaftad sifo:

Service Tax/HamE

. Income Tax/3TAHT

. Banking Transaction Tax/ARm Homawr &

. Gift Tax/398R &

. Goods and Services Tax/MTd 3 #a1 I

Choose the correct answer from the options
given below

He few mu frsedi W A wH I F W@
wHfm:
(a) B, A,C,E,D (b) B,C,A,D,E
(¢) B,D,A,C,E (d) D, B, A,C,E
Ans. (c) : T # & T TEAA I T T 4 2 -
(B) 39 (24 S[eE 1860)
(D) ITWR T (1958)
(A) a1 W (1994)
(C) 6T Heagr W (2005)
(E) 7 3tk &= (1 o 2017)
36.

moAa® >

Given below are two statements:
et 2t waw fag o §:

Statement 1: One of the assumptions under
OLS method states that the regression model is
linear in the parameters, though it may or may
not be linear in the variables.

FHu |: 30 uw uw faf & afta uw weumon
g § fs wwsmw uiza twie F thes &
Tafy =l i oy s =@ o & @ b

Statement II: The variance of the error, or
disturbance, term is not the same regardless of

the value of the explanatory variable under
OLS

mﬁll:ﬁmw&dﬁammﬁmm
= ue 50 ot &, 3 @ wewer aven fasi
g TS T TE &

In light of the above statements, choose the
most appropriate answer from the options
given below

Fwirer e & e §, Hr fag Pt

R TEE TG I T GG WA

(a) Both statement | and statement Il are correct
Fo 1 3R 1 2wl &

{b) Both statement [ and statement I1 are incorrect

o | 311 &1 Tem 81

(c) Statement 1 is correct but statement Il is:..
incorrect/FAA | W 8, P 47 11 W 1
(d) Statement | is incorrect but statement I is
correcV®T | e 7, feg w11 WA )
Ans. (¢) : 3 ©a ©H faf & 3iada o o 9z @
T Aizw dode 7 es 2 R =6 4w e
T o @ T 21 FA 1 98 & qw T 11 e 2
37. Given: /Ig¥:
I=50+02Y
S=-150+04Y
G=50
Where

wEl:

1 =Investment, S = Savings

1 = fdm: S ==wa

G = Government Expenditure
& =g

Y = National Income
i ama

What is the equilibrium level of national
income?

g aa = WA W w §?

(a) 1250 (b) 1500

(c) 250 (d) 2500
Ans. (a) : TET9 319 & FeA w1 1250 31
38.

A sudden shift from import tariffs to free trade
may induce short<term unemployment in:

I WY W T WUW W 3N e
st g A @ few e i
= WEAT§
(a) Import compeling industries
Frama-wieead| Iz
(b) Industries that are only exporters
A Fam § S Faw frafes €
(c) Industries that neither import or export/34
Fm & S 7 @ mam 3 @ Fal e E
(d) Industries that sell domestically as well as
cxpumﬁaﬁmﬁiﬁ-mmﬁtwm
T fawa aw €
Ans. (a) : 3T@W YYeH § g6 AR F I IATHS
R AgEIE FUTE F 3w -wfrendf 3@ ) IR
A N aEar ¢ SYen SRl W AT T s aR W
s & 9 3 e 9§ w2 ok 3 o
21 38 3 § wyew & wfuwa smm Yo s
e A 31 o A 32 & e uE W smm
e A W e @ vatgar 2
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39.  Which are the following correct features of
matrices?

Frefafes § @ faw & wff afvege am @
¥
A. An identity matrix is a square matrix
o TR iRew o 9 4|

B. An identity matrix when gels transposed
remains an identity matrix/TH TG AT
QRO B R e AfREw @ w2

C. (A, B)Y = AT, BT where A and B are
matrices/(A, B)T = A", BT s A 3k B
fgam 21

D. (A") = (AT)" where A is matrix

el A @ Az 2

Choose the correct answer from the options
given below:
#9 far o fawedt # # wH I o= wEw
Wity
(a) A and B only/&aat A 3 B
(b) A and C only/@aa A 3t C
(¢) B and C only/dad B 3R C
(d) C and C only/&a@ C 3Rk D
Ans. (a) : 0 & w6 afierm e 2-
(i) ©& e e uw ol dfww )
(ii) @& e A o @ W oaeed a6
@
40.

Arrange the Tollowing concepts of consumer
behaviour in chronological order

ITUITH AR st Trfeiaa daoeaarsil @t
TTCERHTIATT TG

A. Law of diminishing marginal utility
o i Sudfnr fam

B. Law of demand/min &1 Frw

C. Revealed Preference Analysis
IgErtea i favemm

D. Indifference Curve Analysis
FARA T fargero

Choose the correct answer from the options
given helow

Frar fau T fawed O @ Ot IW = @A
e

(a) A,B,C,D
(c) B,A,C,D

(b) A,B,D,C
(d) B,A,D,C

. e I- I P
) | |

Ans, (d) : 30 Za@gr F fAefafen dsest @
e weTEe -
(B) =i & fAam
(A) BrE"H diwin Iudiftm Faw
(D) 3AmF a®
(C) 35w wiramr fergerawy
41.  Match List -1 with List-I1
- | = g=h- 11 ¥ gifem St
List-1/geft-1 List-11/g=ht-11
A. Conserving the I. Indirect use value
Environment for VY ITGT g

benefit of the future
g:ncmtion!a:lﬁ @l
§i# & 3w & Ry
TG & WO FA
B. Scarch of Altemative 11. Option Value
fuels is necessary fewer 0
because traditional
sources are non-
renewable

daieas fm 3
Iavas ¢ @i
it 5@ M
T @ §

. Wood from the
forest is useful as
timber

g4l 4 WE dHE F
w9 #§ I i @
. Insects are important [V. Use Value/3TaRT

kGl

I1l. Bequest Value
Fhga g

as they help in
pﬂllinaliunm&'-
o mgel § FfH
q g TeE a0 §
Choose the correct answer from the options
given below:
e fi 7 farereat F @ Wt IeT i
(a) A-l, B-II, C-1II, D-IV
(b) A-11, B-1V, C-I, D-111
(c) A-l11, B-IL, C-1V, D-I
(d) A-1l1, B-1V, C-I1, D-I

Ans.[c}:ﬂ'ﬁﬁ@ﬁ’ﬁ@ﬁﬂ?—
=l =11
A I & T F IwEm F L FdEm g
foT, aiawor & deE w7
B. dfs W & @@= L
IETE ¢ M TS
An - |@m 2

fawea =
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C. = & m m@ T V. ST g
g & w0 f Iwr
a8
D. d-uil vl € S I weEw
3w # e A ¢ ITE
42.  Match List -I with List-11
TEf-1 = gE-11 F g wre
List-I/g=ht-1 List-11/gft-11
A. Adam Smith 1. Theory of Big Push
weH fimg a% v @ fagia
(=TT s fam g
B. R. Rodan 11, Traditional Society
3, e TR T
C. W.W. Rostow [1I. Reserve army of
5, Teeq e labour/sfiwl @l
R H
D. Karl Marx IV. Division of labour
ard o 7 ferarer

Choose the correct answer from the options
given below:

(a) A-l, B-1V, C-lII, D11

(b) A-II, B-IIl, C-I, D-1V

(c) A-lI, B-I1, C-1V, D-1

(d) A-1V, B-I, C-II, D-I1I

D. If observations are selected on the basis of
judgment, it is called a method of non-
random snmplingﬂﬁ Yuuit &1 999 fefa &

IR W fEwm S g, d @ heantes
sfeas &t fafy = s &)

Chaoose the correct answer from the options
given helow:

Hrer faw o et F @ wd I @ v
ity

(a) A, B and C only/&a9 A, B 3t C

(b) A, Band D only/#ad A, B 3t D

(c) A, Cand D only/&aa A, C 3t D

(d) B, C and D only/&ae B, C 3t D

Ans. (b) : Tt T Freifafen € -

(i) 3R Wewi @ oW WEww § @ W * amhew
i & Ry =1 s &)

(i) of2 Syt 1 999 aed =9 4 Ry o @ @ 5@ -
o vaaa 3 B @@ s

(iii) af2 Servit 1 agq Favig & sR R f o @ A

T R - Igfes waa 3 ffy T o &

4.

What is the CORRECT sequence of the
following?

= @ vt o == {7

Ans. (d) : T8 e G0 P £ - A. Uruguay Round/3d 2R
‘Fﬁ'l ‘1‘-&-" B. Kennedy Round/&2 @R
A. =y fm iv. s frTsE C. Doha Round/arer 2R
B. 3m UEH i = % T feh D. Geneva Round/3iAa1 &t
. (Eﬂ'ﬂ ity ﬁ“m Chaoose the correct answer from the options
i ) given below
C. =T=gesy W@ i oS oA ey o my freedt R wft I o= oW
D. el W i, gfiEl @ smim & s
43.  Which nl'lhe_fnllnwing are CORRECT? (a) A, B,C, D (b) B,D,C, A
gciiniitdeinisinmii T () C,A,B, D (@) D, B, A,C
A. If observalions are selecled purpcswcl?-, it is Ans. (d) - Pt 7 8 o —
called a method of non-random sampling/3f%
el & 999 gk 2, @ @k miew (D) S 2 (1947)
st & Fafey e s 2 (B) &2t A (1964)
B. If observations are selected in an ad-hoc ||(A) 3% 2R (1986)
manner, il is called a method of non-random (C) et Zx (2001)
sampln i ? ;q: ﬁz; D 45.  In case of indifference curve of two goods X
e 2, i[ @ # R and Y, as consumption of X increases:
C?:_m:m : e | . X 3fr v 2 awgeil & st am @ fafy
. If observations are selected in a systematic . :
manner it is called a method of non- random X W vt !ﬁ‘iﬁm,
sampling/af% el &1 w0 geAaitad ®9 # (a) First MRSxy increases but later on MRSxy
B s 3, @ W@ agfes shwas @ dccrcascs/ﬂ@MRSxyméq‘(ﬁmﬁ,
fafer @@ o 21 MRSxy "2l [
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(b) MRSxy increases/ MRSxy ol
(c) MRSxy decreases/ MRSxy ez 2
(d) MRSxy remains the same
MRSxy & T &l 8
Ans. (c) : X 3R Y 3t aweil F swiwe am o feafa §
X T IO AR F WY- Y 1 S OGE G% orsd &l
o @ 3 MR- =R W ) Inie F 5 e at
WA A TR T m P R I XA Y F
o w1 @iW | (MRSxy) a3 sAfimm
% & fAl i 9% 9 7AW i 81 58 WER
MRS,,=—[A—\{)
AX
Ya

F

46.  Which of the following functions will result in

an investment multiplier of value 4?

frafafea et # formen oftome o o
frarr T v, e w4 &

A. C=50+25Y

B.C=50+.75Y

C.S=-50+25Y

D.1=50+.75Y

Choose the correct answer from the options
given below:

Fror fox o et # F wf I W www
it

(a) A and C only/&a< A 3R C
(b) A and D only/@aa A 3t D
(c) B and C only/&ad B 3R C
(d) C and D only/Fa@ C 3R D

Ans. (c) : c =50+ .75Y
MPC =75

- ]
1-.75

EER] K)= —
T K) |-MPC
L

25
S=-50+.25Y
MPS = 25
]

s A e, Vg
e o (K) = s S =

47.  With reference to the programme 'NIDIII'

which of the following statement(s) is/are
CORRECT?

‘faftr’ (o= amé @ wm amd) wrdeRw & ded o

frafafiga # @ =E-0 max ol §7?

A, The programme of ‘NIDHI' was started for
students to begin startups/‘ff’  FrbEe
ot & fag =2 -39 My T & fog
T T4

B. Its aim is to financially support 200 students
for startups each year/FH@&1 ?{Tﬂ wE- AT &
fore & ad 20 Pt & R weram @ &

C. Its aim is to financially support 200 students
for startups cach ycar/SH# 3R¥4 V- 3T &

fow &1 af 200 il &t ffrg wrma ww
2

Its aim is to financially support only students
of backward classes to start up each year/SH1

R =2- 30 & g | ¥ Faa R il
F farfit o fafta wamam & 21

Choose the correct answer from the oplions
given below:

H= frw 7o Rrwedt § | Wl I o= owmw

ity

(a) A, Cand D only/ &a& A, C 3R D

(b) A and B only ¥=w A 3k B

(c) Aand Donly/ =@ A #R D

(d) Cand D only/¥a C 3R D
Ans. (b) : T (wmamw Aivgan) Tm TER &
e st stafed faum g =9 s JareEnd ik
Tt T Hafem faER #1 Geedl w=E-sm §
feftm & & fou & B ™ oF om adEm )
iy smgfea & 907 ¥ SeR AT T A% REIY @
guda o &)1 By sden Rofdd & o =d-am
I TR & o TemE TEn TEeT 3EV wR-IW &
fore &t = 200 Rroffai &t fnfrg emam o &)
48.

D.

Which of the following statements are relevant
for Gender Budgeting?

R smnfe @l (e wwidm & R

frefrfgs wo=t F | 2= dm §?

A. Preparing a separate budget for women
afgenait & g gus T92 T

B. Gender budget is not practised by the
Government of India/id T&ER M S
T2 T @ W T
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|

C. Evaluating budgetary provisions with a
gender perspective/fTT (3EW) uftkey & WY
T F WEYE F A

D. Gender budgeting is a tool for Gender
Empowerment/fiT (Se7) wumiwr & g
FeX TR uF A F w9 F 2

Choose the correct answer from the options
given below:

e far w fawedt F @ wft I @ waw
mifa:
(a) A and D only/#ad A 3t D
(b) Aunlyﬂﬁﬁ A
(c) A, B,Cand D/ A, B,C 3R D
(d) C and D only/ #a C 3T D
Ans. (d) : M smufa a@ffn Sz =l & R
frrfafEn ®a9 ¥ €1 -
(i) foim (Si) oftea § WY 992 & WAYH 1 g
(i) fom =0y avmim & fou S a9l @ Wn
=
(iii) SFsX w1 o womw S g oW f WA S @
TIRReeR 39 &)
(iv) 78 TffEm = ¢ &5 faem @1 am geat & T
afeemsit 7% ff ®2
(v) 9% ¥8 9@ ¥ 39 @ ¢ & opg dandl @ R
wfeeai T A I wE | S & g
The total population of city 'X" in 2011 was 28
Inkhs and the total number of live births was 50
thousand. Find out crude birth rate per 1000
population

2011 o yET X' S T wAEe 28 o
afm w= fifam fgeit =t dwn so gom dn
Ve TN AEEE UT YR weet uar

49,

In a situation of decision under uncertainty, if a
consurmner faces equal expected income [rom
two alternatives, then s/he will take decision on
the basis of

Afsfyamar & afmia fofa 83 =t fafy A,
afe Iavterr @ S fraeal | U WO AT @
yeyn gt &, @ oy frofafes § @ few
amum w fofa wm?
(a) Expected utility of both the alternatives
a1 et & wenfyE IwEit
(b) Mean of risk of each alternative
v faEen & sifaw @ s
(¢) Probability of nisk attached with each altemative
&% e & wrg dag sifaw & dafam
(d) Vanation of risk attached with each
alternative/7% faeeq & g dag Sifam
ferarm

Ans. (d) : 3RfEam & s=tma favf oF @ Rafy o o
I & 3 REedl § Us O a0 &) S e g,
it a8 94T fawey & o g Sifgy fram & smm
w fufz stm g 3k Ao 3 sl s
Theory of Games and Economic Behaviour & it
ffrdt f w =fr & oo &1 s fem 3

Tz T WiEda R S e gEhies 4 OReRT Fhar

51.  ldentily the proper sequence in the traditional

econometric  methodology of conducting
research

i & ° urinfis srdfiefta wgfy f sfaw
Y T TEAT;

A. Data collection/HTHgT HIgW

wmE? B. Policy prescriptiunf#fﬁf—ﬁ-’fﬂf{ﬂ
:23‘ ?-;;gg? E:; :;Bagg C. Testing of hypothesis/TREea=1 & qlem FEn
Ans. (¢) : D. Formulation of hypothesis/Sf@ea=n @1 fsfor
IR X # Fa SEHE = 2800000 Chaoose the correct answer [rom the options
T e fRregsh 3 wem = 50000 given helow:
- #r=r fau v Rrwedt F A wf I @ owww
HAVIfeW o & = WA
foreht ad ot o et R m &3 (a) A,B,C,D (b) A,D,B,C
@ v Rrggait 1t dem (c) D,A,B,C (d) D,A,C,B
A rm A rm A e 0 ||[Ans. () : T8 @ F ot s w2k @ o
— w0 Frrfafaa & -
STENfRR S = Sa00005" 0% (D) TR & P
_ 500 _ 250 (A) SifazT T
EETETY (C) WRere 1 gl S
YN I = 17.857 (B) Fifa-Frafor
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According to Ronald Coase, which of the
following statements is CORRECT for
pollution control?

e ®w & agan yguw febswr i

frafafiga wa=t ° @ aft €7

(a) Providing property rights to polluters and
polluters/738F 3k wfm @t d@efy & afian
W ST

(b) Providing property rights to the legal
institutions/fafeT wwEl & dofa F wfisn
WaH &A1)

(c) Providing property rights to the state
Tsa &I wufv & MER Je= &)

(d) Providing property rights to Trade Unions
98 Wl &) H@ufa & SER W=E F

Ans. (a) : THTes 19 & IFOR ¥gA0 FE0 3 9eEs
st sgfm @ dufn ¥ SR WM S SrEEE

g, A Adj(A)
Al
A = Adj (A)
Jﬂ'il 'A‘II AI..1
For  A=|A, A, A, |theinverseis
A'!I AJ} A”
1 AH AZI A!I
A_I..:m Au An ﬁn
AI] A!) A']]

FUET FAYH T AR W A € atem gt
AR e € 3 afaw e & sisa § am el
ae =Afth 91 WYY TR WHE & 20 ey quee
T WA w9 81 ge i SRER 3 S @ g
T S T & s & o 32 @ € o e
T 3 A T A § T A9 a9 A
sit & g aftorm @ S gEeE a0 A Rl F E wiE
T G Y gl & e am & o dm

53.

Indentify which one of the following statements
is CORRECT:

forefifea @ ot wa= aft o= i

(a) A" is equal to Adj (A) if the value of the
determinant A is unity/ A" Adj (A) & 7 &
7t v A @ e wEraf (gfe) @

(b) If two columns of a determinant are
interchanged, the sign of the determinant does

not alter/3f2 v ffe & 2 sfadl it wEg
TRafin & fem W ¢, Ffe @1 fe =
EErn f

(c) Law of division is allowed in matrix

operations/f¥ey warem #f R & fraw &
At 21

Which of the following are a source of market
failure?

frafafea #§ @ @-ar aom s @ s
t?
A. The existence of public goods
TS TR T e
B. The presence of externalities
gl #1 Iufeafd

C. The fact that some goods are rivals in
consumption

T 1ed % Fo Tad Ivam # wfeadi @
D. The existence of monopolies

umfaER & st

Choose the correct answer from the options
given below:

=t for m farmedt F @ W I @ oW
e

(a) A, Band C only/@a A, B3l C

(b} A, B, and D only/&ad A, B sk D

(c) A, Cand D only/&=aa A, C 3 D

(d) B, Cand D only/&ad B, C 3R D

(d) The value of a determinant changes if the
rows and columns are interchanged/af¥ Gfwal
3i el @ woEw uRafda @ e 2 A
i =1 99 == Wi 8

Ans. (8) : A Adj (A) & 9 ¢ 9 e A @1 O
gt (g 21

Ans. (b) : TR fawem & w Pl @ -
(i) T aRR @

(ii) =l i I9fafy

(ini) Tt = aiftee

(iv) 3rqul ST
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Arrange the following committees appointed
for the Banking sector in India in chronological
order:

wir % ¥ &y & fog e Prafafaw
witrfat =t rerERTER st wa;

A. Urjit Patel Committee/3fa w2@ wfif

B. Goiporia Commiltccﬂ'ﬂ'ﬂﬂm wiwfa

C. Narasimham Committee-1/3%ftgn wfafa-1

D. Chakravarty Committee/Sarl |t

Choose the correct answer from the options
given below:

#f=2 Ry w e § ¥ wl I w o
it
(a) A,C,D,B (b) C,B,D, A
(¢) D,B,C, A (d) D,C,B,A
Ans. (c) : YRA H 4% &3 & fo¢ 7a Akl @
et FHewa Frefenan 8-
(D) Tmadi \fafa (1982)
(B) Trgftan wfaf (1990)
(C) 7iftiEn wfaf-1(1991)
(A) 30 2w afuft (2014)
56.  Asoutput expands, LAC curve falls. This is due

55.

to:
forfer o freme & wma, ww w @ o e
arrdt &1 swaET T
(a) Diseconomies of scale
oftamn g @ (Em-EeEy ofs =)
(b) Economies of scale
qRemT gew gam (SRR 3% )
(c) Law of diminishing returns
B Wi Fam
(d) Law of variable proportions
el W fFam
Ans. (b) : frfa & fawm & w9, @Wudas 7 e
I} T T AT A qE™ (A 3
Thel) i @ W T @ 81 TALLA. 9% ged-ue
A A famg W AW @ @ o F g e
31 % &) ®g@A ¥ § SMC = LMC = MR = Price =
SAC=LAC

W

o A

r L | B

57. The sampling distribution of mean based on a
sample of 13 units selected without replacement
shows a variance of § units. It the population
consists of 49 units, estimate the variance of the
population

wiommga & fasr wafaw 13 semal & U
#fer w smufe witreras freor @ v §
sEEal T faremor gorien &1 @fe SR ° 49

TEgat §, @ wAdEm & fafuw @ arees

aﬂﬁ-rq:
(a) B0.67 (b) B4.87
{c) 86.67 (d) 86.87

Ans, (c) : N & fn watm 13 354 § 0% e
@ smyfta sfrgga B @1 ang 5 sEdl @ R gefE
#1 2R s i 49 EwEEi @ @ SAEE 86.67 @i

58,

Given helow are two statements:

rer g wa= faw 7 §:

Statement 1: Social Welfare Function (SWF) is
a sort of social indifference map consisting of

the Social Indifference Curves (SICs) which
shows the various combination of utilities that
gives the same level of social welfare (SW).

HYA | : WUTH FHEaT Hed (T TR UH) TS
YT T WS it wereaw § P
U WU @ & WA Sedi (U9 $5d)
v & ae fafisw dueE =t el e
R it @ (uw amd A

Statement [1: Social Indifference Curves (SICs)
may not be convex or concave to the origin

FOT 1l: EWAS o ERmE @® Iwfy ar
Jraae g B wwa

In light of the above statements, choose the
most appropriate answer from the options
given below

G HAAT & e |, frer frw o et
o # wa® IUGT I W TG A
(a) Both Statement | and Statement [1 are correct
Fga 1 3t 11 3 7§
(b) Both Statement 1l and Statement 11 are incorrect
4 1 3R 11 2T e §
(c) Statement I is correct but Statement II is
incorrect/®u | Td &, fa= &= 11 e ]
(d) Statement [ is incorrect but Statement 11 is
correct/FYH | e &, g #3117 2
Ans. (a) : FOIE FoA0] HoA (TH.E=G.UF) T 591 &
Tt SR TRt ¢ Bl @ gee 'R @ o
FE (TR 2e) A ) AR R g a zu A
T 3R @ (T8 g ) @) Tl e 5
I # 3T A1 GAA A4 @ I
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59.  Which one of the following measures of central

tendency will be the most appropriate to use il
the data relates to rates, proportions and
ratios?

afe st i, W @ U ¥ wafta €

A T ygfe & S § T &1 P wer

waifires g gm?

(a) Arithmetic Mean/3i&nfORig ang

(b) Geometric Mean/sfiea oreg

(c) Harmonic Mean/8tdHe AMH

(d) Median/mfeze
Ans, (b) : T 372 0 TAIR 9 U Q T 8
A & vt & a9 & fa sfd o @ e
o waEifyE Iadw w g R s Al @ i
ey 3T T el S TEGA & 98 959 o 8 e
39 ooft & deard e &)
GM. = nyX, X, X, ... X,
iR g § gg o S ¢ B R gwt
g # N & W A den e Ef oS I e &
W W I U T T WS @ 2
60.

Consider some of the schemes/ programs
introduced by the Government of India to
enhance agriculture productivity and farmer's
income. Arrange them in chronological order
of their appearance.

wit seagE i framET &t e d gy &=
% fu e T g Ay & wmy
wrdwmat w faem Fifag 3 37 amw g
TR FH FEHEAER T

A. Soil Health Card Scheme

T2 = wE G

B. Kisan Credit Card Scheme
frarm afez = @im
Pradhan Mantri Fasal Bima Yojana
SO GEd S5 dis
Doubling Farmers' income program

framl &t smg @t g S @ IdEn

Choose the correct answer from the options

C.

D.

(B) frem &2z & = (1998)

(A) &1 TG &7 AT (2015)

(C) s wwe afra i (2016)

(D) Bt i ama St T TR T FEER (T2 2016-17)
61.

General Economic Equilibrium is NOT related
to which one of the following problems?

= e daew frefafes 8 @ e

woom # defte T ¢

(a) Existence problem/3faa wown

{b) Moral ITazard problem

Afs 9§ T T

(c) Stability problerm/fetmn TaeT

(d) Uniqueness problem/T&adl #9581
Ans. (b) : Equilibrium ¥ #29 % aequilibrium 7= &
freren @ formam 3rd @ wom wr e 3w wAm
el (Physics) & ferar man @1 it o g and @
2 oA 9= & 9 Rafy el fid ofvdd @ gl
gt & Feve a3 2 o SLF. e & v §
"sfere & sgaa afa & oftada 3 arqoftafy s 31

A AT HgeA e Seesi § g @ -

(i) AT g

(ii) feamr waem

(i1i) Tl gaed

62. Arrange the following business cycles in
ascending order in terms of their approximate
duration.
frrafafas smoma =@ @ T sgmte
srafl & aran I ww ¥ Fm:

A. Kondratiev cycle/@3Tis o5
B. Kitchin cycle/fm o
C. Jugular cycle/SeR =&

D. Kuznets cycle/FI+eH %

Choose the correct answer from the options
given below:

Hrar fau o freeedt W @ W I @ wow

i
(a) A,C,B,D (b) B,C,D A
(¢) C,B,A, D (d) D,A,C,B

given below: Ans. (b :Wﬂﬂﬁmmﬁﬁmﬁ

#rat fau o fRreed # @ Wl IW @ waw a:ﬁ-gf{a:qﬁﬁi— -

wifa: @) Tm - W@ ag-TF f S & S amm 40

(a) A,B.C,D (b) B,A,C,D oE & S &7 e 2l

(c) B,A,D,C (d) B,C,A,D (C)FRT®H - 39 9% & 731 T 0 Faqd 31 |
Ans. (b) : FM IrRFA SR REgET @t ama | afg @ G d@F2 & €9 R fE
& fo wRa @R I R F T Sy edEe @ o IR-99E o 2 T um A
af T B 2 Fafy sitem @@ A af & 2
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(D) FoMgH Th - W0 TEF FEALH A 16-22 a6 F
AT IAR-TgE THE O TR
¥ o @ w3 A G@ i@
&/ weq foven man ¢ o= 7-10 d
¥ O 1 TR WEeH & &
21 T ForEw T w@ I am

(A) =S 9% - 1925 § wf sdvnedt F=E 3
e g 6 wE @ AR A
7 & & Rl smafa so ad @
s W 8 R ;3 R T
= a2
63.  Match List-1 with List-I1
weft-1 = gEft- 11 & gl wf:
List-1/gzft-1 List-11/geit-11
A. Carl Friedrich Gauss 1. Central Tendency
Frd heftg w &g qgh
B. Multicollinearity 1. OLS
agaIRIE o\ W
C. Made 111. Karl Pearson
T[S e faaEA
D. Correlation IV. Relationship among
HEGEY explanatory
weart o ¥ 9w
Hag

Choose the correct answer from the options
given below:

et fow Ty Rreredt o F wdt 3w g

(a) A-l1, B-1V, C-I, D-111

(b) A-l1, B-1V, C-liI, D-I

(c) A-IIL, B-1V, C-1, D-11

(d) A-1V, B-1, C-1l, D-111

(a) 31 (b) 41
(c) 51 (d) 61

Ans. (a) : Tt gAfera 3
w1 -1
A, T i@ w1l @
B. agawfEm V. el o & d9 gay
C. aga® L & vt
D. wewa g 1L @ R
64. The I15th Finance Commission (FC) has

recommended that the States be given what per
cent of the divisible tax pool of the Centre
during the period 2021-2022 to 2025-267

158 firer amar (ww ) X argrer = & s
2021-22 & 2025-26 =1 avafty & dh oAl &Y
3 & v = @ #o...SfwE R

W

Ans. (b) : 15 9 fa smam (uw.d) A e & 2 fF
2021-22 ¥ 2025-26 9 &M & WA T FFR F
frrsa a O 91 41 Sftem R s e S #
AT 280 & e WA & UpWW A GERE @
s # 153 fam amam & meA fEEn @@ v W
wmm &, fee gelt @ 2011 @ SHTOET @ STER
T HEfal @ AW 77 8 fW 3Em F A e
s @ R wwfal 6 9§ (2020-26) & fag &

65. Which of the Tfollowing statements are
CORRECT for correlation analysis?

weddy frvemu § Prafafaa § @ w9 @

FHaaT T E?

A. Degree of linear association is measured
belween two variables/@! T & 914 Has
H&v A fef & ST 2

B. Predictability is not part of correlation
analysis/G@Tm & wae weway fvdo @
o 7 &1

C. Spearman has no contribution to correlation

analysis/fg-¥ay faverw #f fogos @1 o
e Ad 21

D. Cause and effect relationship is established
through correlation analysis/&g-Ha¥ fergeur
& mem § TR0 s wwE @ ddy s
R = 21

Choose the correct answer from the options
given below:

= Ry Tu e F | W oI oW owmw

it

(a) A and C only/&=d A 3itt C

(b) A and B only/3@@ A 3R B

(c) Aand D only/&aa A 3R D

(d) B and C only/&@@ B 3t C
Ans. (b) : 57 @ = & o T4 GO 7 WRard & ¢
a oRaft @ qu Rl 3 €, fmd oE @ oftads
¥ goEes g | A o oftads 83 3 g ol S
2, @ A o weg=a @i 81 ol 9 519-91g uitEnd wie
#t @ Wi & ewEw Fad §) @ W s @ @
feen & @A @ T TS WEWEA A9 99 98 Yiads
faufm R § @@ # & wowew wewm g )
weaa favew & e aw @ 2 -
(i) T & dra tfas wa=g 3 2 S 5w s
(ii) AR T T wEEE v & oam T
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Idenlil";' which of the following statements with
respect 1o Linear Programming Problem (LPP)
is CORRECT:

s o wmen (ge o) & ddhr
frafafias o & wft wa7 # oge St
(a) A solution is unbounded in an LPP if all the

feasible solutions of the prablem fall within
the boundary created by its constraints/afZ

YR & UOW g §UME TEE aneEensi
T wam Al F o o €, @ uw b o A
TONH S 2

(b) If A is a primal problem and B is its dual,
thcndualof'BisnulAfﬂﬁAQES’iTﬁ'm
e pymmgmad, diBp@mama A T

(c) If and LPP has two optimum solutions, then it
has also infinite number of optimum

solutions/afe &t wa ff 6 & 2 9 qumE
& @ T s we § Teaw wee o €
(d) The constraints of an LPP in standard form is
always expressed in less than and equal to
form/ AT 9 | TA 9 @ I anamd g
&9 sty g gum & w9 ° e g6 )
Ans. (c) : faw st T (T, 4191, F 3 TEA
e @ @ e st wE § e aaaE 2 e
SR TAE T I T H O ey 5w
feedl & us 94 d@m § ¥ T8 7w fEe @
M ol = g s 2
67.

In the short-run production function, which
one of the following is CORRECT?

TFuTEt IATEA B o, frataiee § % =

W &7

(a) Technology is assumed lo be constant for a
given production function relationship/f=T

I T wAY F fog st R @ 9
T & A

(b) Technology is assumed to change as capital
stock changcs!‘faﬂ ww i iadq & @™
stifit oftara @i Fean @ T &

(c) Technology is assumed to change as labour
changes/5M3MH # Sftada & W SoifE
ftada & Fe @ e

(d) Technology is assumed lo change positively
until diminishing returns set in/899 Hieemq
AR B T SdifiE § gEes e @
FeaA 3 el

i
P I "mils § 8 )
- ]
w | | |

» B

Ans. (a) : 5709 AN IS GO & Y & 60
dafa R &3 3 Fowm A I 21 sdww F T
¥ Wvg 39 A A 2 St wm F oftedw & arqem ofd
F TR 1 § IwEE @ o &1 §ea @ ey
f7 = F1 @ v & - f sevme Rl ofd F a3
ofas 7 @ w o oft ane fem =y & @
swerEE foredt 3arm # g oftadw @ @ w o
fraft 8§ g2 T U@ @t Swd faegw o = o
W wF, 3% et WA FEd § aw go W@ A R
ofads @ o w2, 3 GRedHd a@ee @ed gl
#dFa a9 F g Bd o el § ot @ .
wa gafeg ddem § S I fer wnm T g
68. Which of the following is NOT a Commercial
Bank?
frafefaa ¥ @ =@ v it da T 872
(a) Co-operative Bank/Hga! %
(b) Private Sector Bank/f¥sil &7 %
(c) Public Sector Bank/@a 87 %
(d) Regional Rural Bank/&a anfio 3
Ans. (a) : TEFI 4% F 3TE 37 O fa0d G °
¢ 5t el ot h-weh 2 & § O smawE @ =W
# gfaw wm w1 §) weEd A s W wEl
7 yER & 9 v g dEd S 3ot
TN F S FF @A e YEW S0 81 wewh d3 @
@it 3k fan we=dl zwo @ fR s 2, @
AFAiE &7 ¥ FRYE wed & 99E &0 8 dewn
i fiwd ¥% (RBI) z fafwfim R om € o ofEm
ffram  sifufram, 1949 & ww-mw dfE FEA
sffram, 1965 & wad WA &1 geEr 4 ol afrfas
Fdamiad-
. mi’a{ﬁﬂﬁmuaim-smck)ﬁ?,m
wewll A% gewll dond B 8
o TS &% awdE fod &% & Fram & e )
wal dF weed affd F fwer o e
gt % anfim &)
o FEEH dmi § afis da & qe § & o A
ATHT Hard 2 i 9 w5 g g
Which of the following sectors of the economy
registered highest growth rate in the second

quarter of 2020-21 as per estimate of NSO?
srefemarn & Profefiza F @ ey o o ad

2020-21 Ft Tadt formdt F wafes dgfig =v o=t
Bt i wiferet salea & diws &
HIE:

69.
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A’ ‘ f f AL ™
Y N | 1 el W

- . ff I |
2 TR W i |
| i } . 1 ) . a ¥ 1

Bos Sl S ' o B S e

(a) Agriculture and Allied sectors/&ft @ W& &
(b) Electricity, Gas, Water supply and other
Utility services/fom, fw, swamgft a s
Frandt dand
{c) General Administration/8MH=1 ¥¥THA
(d) Manufacturing/fafmin
Ans. (a) : TETa wifma) Frafaa & sisgl & ER I
2020-21 N Zwh o # sdemmmn & IR T wEg &
#1 waed Wahe o g 2
70.

According to Census 2011, which one of the
following states has the highest share of rural
population?

ad 2011 ¥ w3 argEn Prafafe § @
fo= et o gmftor st watfies &2

(2) Dihar/faRR

(b) Himachal Pradesh/farae w29

(c) Odisha/3iifem

(d) Uttar Pradesh/3wit w3

S

Ans. (b) : @ 2011 ¥ FOA F AR Fr=faiea

Tl &1 AT SAdEn & sfavE -

o fomae 2w 61,76050 90%

o @R 92341436 88.7%

o FfEm 3,49,70,562 83.3%

. TR B 15,53,17,278 77.7%

« HEH 2,68,07,034 85.9%
71. Improvement in the balance of payments

deficit may be effected through

AT d@gew  ae f gur g w e o
wE §?

A. Import Controls/3am@ FraEen

B. Export promotion/fafd RIcaTET

C. Foreign exchange control/f=¥l 31 o

D. Devaluation/3 5

Choose the correct answer from the options
given below:

e fag g fawedt & @ I @ SO
AP

(a) A and B only/@aa A 3R B

(b) A, Band C only/dd@ A, B 3 C

(c) A,B,Cand D/ A, B,C 3l D

(d) C and D only/&== C 3tk D

Ans. (c):
TFH A 3 TR A PR F T
l
v l
J
|
¢ 7 —3 1
1 viifeR T T WA 4 i
) s T T A 3w T
? faeaf el 2.5 ffem
= i ofree Wl Err
3 fafa Frebm 398w e
T ST 4.0 5T
i sTde 311'41ﬂ\f=rcs'u1' ; 5. 3ary g .
72.  Which of the lollowing statement is CORRECT
for "Atmanirbhar Bharat Rozgar Yojana'

launched on November 12, 20207

12 =EET 2020 T AT H W SERTIT WE

T drern’ & ddu F frafafas o @ =

| wHaa T §?

(a) Establishment will get a subsidy of Rs.10
crore for a period of 5 years/Hfi@H & 5 T
F aafy F fog 10 S0 598 & T e
EEnil

(b) Establishment will get tax profit continously
for a period of 3 years/Sf®™ & @maR &
Tl & fve & & @y Rdm)

(c) Establishment will get tax subsidy for §
years/¥iaH & 5 T 7% w0 TS HEEA
forett o

(d) Establishments which make new hires will
get a subsidy lo cover retirement fund
contribution by employees and employers for

2ycalmmqﬁﬂmiﬁmiﬁl
T faft ffe § Feee 9 sfiE &
IFEH A = T A 9§ 7% T FeEm fe

Ans. (d) : 12 9= 2020 F W H TE SRR
0w A9 gieAr § 79 Jomm gim F73 are wireE
= ¥ fgf fify § Praeml @ sdaiEl & sivem =t
7z # @ of 7% T geaw et 38 9 Rk 2020
WEE & snee § Ew wfimvsw 3 o igh
WoH 1 W S @ 3e¥a AQ HHEnal F o &
Td @ifae -19 TR & E Alw e ant = am
Tl & afwsll 1 g FOfm F@ ae FEmst sy o
& =fwdl @1 g B s@ o s (EPFO #

Gfiga) F SieaEa O B FEE S 2
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Given Y = X -12X* + 36X + 8, identify which

73. C. Replacement cost method is used by
one of thee following is CORRECT: substituting natural resources with a man-
wEe Y =X -12X7 + 36X + 8, made equipmenv/Sfrare @mm fafy &1 wam
Presfirfira 3 2 Tt = wgar W wghe ¥l @ s B W @

L i whoeanfm @ fan s ¢
(a) Y is maximum at X =6, and minimumatx=2 . ] . .
D. Defensive expenditure deals with preventive
X=6 Y 3t & i X=2 W Y 2w & mcuurcmmﬁﬂﬁm'gﬁﬁﬁﬂﬁ
(b) Y is minimum at X =6, and maximum at x =2 Choose the correct answer from the options
X=6QIYW33|111=2WYH&W3 given below:
(c) Y has two inflexion pointsatx =2 and x =6 Hrar fag g et F A wf oI @ W
Y & x=23R X =6 W A 3 oftarf fig & wifg;:
(d) Point of optimality is indetrminate (a) A and B only/Fad A 3l B
e fig st 2, (b) A, B,Cand D/ A, B,C 3t D
Ans.(b):Y=x_12x+36x +8 (c) Band C only/5w B 3 C
S o (d) C only/ad C
d Ans. (b) : Environment (T4/EWN) 7= %9 =
3 —24x+36 (i) Invironner § foram e & formen o @i @ Rrogsw @
dx A ‘B (Surround) whifers Temd Rl wqam gfy, 5@,
D=3x"—24x 4 36 AfaF 925 (Living organism) S8 = 90
0=x"-8x+12 i s B
L et () 3 e a8 o @R ) o 4 g d
0=x(x_6]_2u_"6) fra® av RR qu & oo Fomd amPm e, o T e
0=(x-2)(x-6) e l_ﬁ'ﬂ g. gy %Waﬂm#l wafaits
) e & fore frer e -
9Y _6x-24 i) () a e ffy i @ - g
dx 1 T &1
N dy) (ii) 7w faafer @1 sam oofa g @ wefin
HHI0 (i) § [dled-—ﬁxﬁ—m Wf? Rt S Rre B By
=16-24 (iii) ¥foeme @ fBfy @ v vl doeEt @
- wra i wemes A shieafim = R o )
[d_{] = 12| =pm (iv) W = BraT: 3l @ a2
L 75, Match List-1 with List-1I
L weit-1 =t geit-11 @ gafam st
w0 (i) & [F) =6x2-24 List-1/arefi-1 List-11/aeft-11
_— A. Perfect competition 1. Many real or
=12-24 guf wfrerzi perceived
d* differences in
[E_X] =- 12 (3t products/ 3TT=
I Which of :;1 followi tat t(s) is/ ) aﬁ?@m
. 1c (1] e lolowin Sstatement(s are
CORRECT for em‘irunmﬁntnl evaluation? . B. Monopoly I Eﬁmmdiﬁﬂﬁc
wafarfta amwew & foe Profafoe § @ N i eoducts
- A T W g7 I § I SE
A. Travel cost method measures the recreational FiE I A A
values of Environment Resources/THI S C. Monopolistic 111. Identical products
fafy yofanin donEl & 5= - [ ge @ competition qAEd I
e 2 wEitE sl
B. Hedonic pricing is used for environment D. Oligopoly IV. Product without
amenities  associaled  with  property TSR close substitutes
values/qaETHS geq i & sam @9t 9ea @ fhz e & B
Haiftn waiawy g & fg Bar s 2 3
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aen 0l B B

| ] il
! |
s |

Choose ..ll;ht correct answer from the options ||(i) wife= fift frfa st T =t wafem =1 = ==

given helow: (i) ARl § LGRE] & Rafy 21
T?fﬁ?lv'"c“f':;iwm T (i) Snfi% st (Gofe) ST semensl @ vaw 23 4
n) A-ll, B-1V, C-l, D- HT ST o
A ;‘ﬂ T tch Li :F‘:Tai?u t-11 =
(c) A-l11, B-1V, C-1, D-II : R SR WL
(d) A-111, B-1V, C-I1, D-I Teft-1 =t weft- 1 @ gafer S
Ans. (c) : W) TR - List-1Ag=h-1 List-11/g<ht-11
eI weft-11 A. Sccurity Exchange 1. 1991
Board of India
A, qof wftend . weed 3R
(SEBI) fagftdi
B. uEiER Iv. fEz e & f
e peaEE b EAGE)
B. National Securities 1. 1992
C. ot wiegaf L 3@m § 3¢® awafa® Depository Ltd
g maéllﬁa H=
(NSDL) /A9
D. IR . 3= #§ ey wvE 3 fraftdi fedied
76. Consider the following statements about the C. Credit Rating 111 1988
rational expeciations model: Information Service
wifdes weamym nizer & amt ¥ Prafafes st of India Ltd
ot e w; (CRISILY#fEz HEm
A. Monetary policy cannot affect output and forivA iy s
sifea A R |/ '

D. Investment IV. 1996
Information and
Credit Rating
Agency of India

B. Unanticipated changes will not affect real
variables in the very short run/3f &Y srafy
q arefas S0 4 swoiiE agoE gwifEa @

i (ICRA) i
C. There is equilibrium in the markets/arard & el e ez M
I 9 e 8 W sitw $fean (3 @)

D. Economic agents use all relevant available
information to form their expectations/3N4 given below:
sl (3z) W s @ s 23§ ﬁmw.ﬁﬁﬁﬂ“ﬁmqﬁq;
W W IUeTRA G T FA é_' (a) A-1, B-II, C-11I, D-IV

Choose the correct answer from the options (b) A-II, B-IV, C-IIL, D-I

given below: ' ; '

frreeemit (c) A-III, B-II, C-1V, D-Il
i ™ e (d) A-IV, B-III, C-II, D-I

H-ﬁﬁl'l{:
A b):
(a) A, B and C only/ ¥ A, B 3 € ns. (b) : 7 A

Choose the correct answer from the options

(b) A,B,Cand D/ A, B,C 3T D E‘f"'ﬁ ) ‘!."ﬂl-;;z

(¢) A, Cand Donly/&d A, C 3t D A, Tt e A ) ]

(d) B, C and D only/@= B, C 3 D B. #vm faegfdl feofmt R V. 1996
(T.78.81.q51.)

o S 5 a8 3 £ i s ]| C- A e sowh st st 0. 198
wivgn S @z 1961 & W@ B T R T ¥ . (fefeve)

frar $APd e A R o afhs gamm orew F)|| D TS FORIYE @ EfE L 1991
R # = w7 2- R w3 3 (g
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78.  In which of the following ways have there been

structural changes in agricultural and rural
areas in India?

o & fism wirenl & wre § @iy ofw
predtor 8t F giemTe uftad= gu §7
A. Crop diversification within agniculture sector
i &7 & vea Rfadwo
B. Diversification from livestock to crop

husbandry/TIH & G-arg1 31 3 Rfnfiwm

Diversification from non-commercial crops to
commercial crops!ﬂ‘(- EEG?E

SEEE wEe @ A AR

. Diversification from traditional inputs 1o
modern inputs/TRUTE M & amgf 3t
F 3 fafafwor

Choose the correct answer from the options
given below:

it foew o freed O | wdt I w1 @@
P
(2) A, Band C only/3ae A, B 3R C
(b) A, Band D only/&aw A, B 3D
(c) A, Cand Donly/&ad A, C 3 D
(d) B, C and D only/&a® B, C 3R D
Ans. (c) : 9§ F i anfior & & Prafafian afet
@ afanm ofadq gy § -
(i) T &7 oue ffnfwm
(i) M-=AmieF T # EEiaS G a1 3R
fafadfram
(iii) areafid ant § smgfas Al 9 s fafadison
7.

C.

What type of relationship the Phillips curve
postulates between the rate of unemployment
and the rate of increase of money wages?

firform o & srem 7 whizs wagh

o gy 5 & e fw war & waw §?

(a) Direct and proportional/Srdg 9 HTTTTI'I?ﬁ

(b) Direct/Sea&1

(c) Inverse and proponinnnlfﬂﬁ?-ﬂ'ﬂ g mﬁmﬁr

(d) Inverse/ufeam
Ans. (d) : fifew o a9l 1 [ qw @ wRd
iada # W A wmw @ Biww s 2 v &
srfwredl TEwy, i A W @ wEE @ e W
i am FE &1 Rl o T @ B Iemd @ @
3fit T ol 7EA il w F 4 Reda T d 2

1 .

s
3

4

i Ff

ik A N
N

A|[Ans. (c) : T wEEE G (AL, @

B0, Liguidity Adjustment Facility (LAF) was

recommended by

FCEAT WATGIR YT (T T uw) @ R
faa =in:

(a) Bimal Jalan Committee/fam@ i@ wfifa

(b) C. Rangarajan Committee/H! T @fEfy

(c) Narasimham Committee-11/7&8w wifa-11
(d) Raghuram Rajan Committee/TUH T FAf

Tiféen wftfa 113 3 faw dawem 3 wifey 3 sreawm
if zall wfefy ‘Affm Se=x fooel ofufi-afan & R
fdd 1998 & w@R F WEE @ 4 AW weEed
!j[f'q"ﬂ (Liquidity Adjustment Facility- LAF) oA
fadf T F megm @ T w1 o W oW
T T qgA aar Rad W @ @1 w@h e s
7 e & e s @ 21

Which method can help in obtaining a wellare
improvement, if externalities exis(?

af argand siftaea § wdr &, o frsfataa §

-t faftr weam gun = wits § weaes

B WA §7

(a) All of the abnerENﬂ?E 3 af

(b) Assigning property rights and permitting
bargaining/FETa1 SIWER FaH & 3R Ad-
ura & ey 3

(c) Pigovian taxes/famifaaT &

(d) chulaliun.rﬁﬁ'q'q?

Ans. (a) : 3% T ftaa F @A € @ Foaor gOR
) wiftq & Prefafen fafel oo a9 ¢ -

(i) T2 RFER W2F FE 3R gE-9a 3 erEt &
(ii) Frfaas &=

(iii) =

AGAT IF TG S o ¢ 9 T INhS e T Y
T e T g Fw @ A O T & A

z Fraftm 78 Fean s &= 21

82.

atrami (*s)

Which among the following is NOT part of the
neoclassical theory of growth?

Frafafas & @ == dgfg & =a- sofas
Tergia w1 s = §7?

(a) Meade's Model/HiE afsw

(b) Pasinetti Model/3fal wiza

(c) Solow Model/dT1 HiEd

(d) Swan Model/SH #igd
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Ans, (b) : 34T Jfa = T9-Feme qigd Tge g
(Equilibrium growth) it wmom A w=tm 21 el
W Tt | W @ R umAEE W A a7 € O R w
g g uiew W e 3Z (Steady State growth) &
favemn § wafan &1 Fa-geae faga & am B @-
diz Wew, A Wew, @A e AR WA Hew
TG 990 Fod W it 81

83.

If a production function admits both Ilarrod
and Hicks neutral technical progress, the
elasticity of substitution should he

afe & I s {E 7 fiew iy

wa-ret gofer g wftem wear § a =t

e Prafafae g =g

(a) equal to infinity/3r1 & TAH

(b) equal to one divided by two

@ 3@ qA F wA

(c) equal to one/TH & FHA

(d) equal to zero/f[A & T
Ans. () : 9R FH¥ IURA WoW 0T I frew PR
AR TR A e T A wR T T &
T & T
84, The concept of "money illusion' was first given

by whom?

‘wifye wn' @t deerar wdyay o & di?

(a) Irving Fisher/gifdn fwm

(b) J.M. Keynes/S1.UH. F-4

(c) Milton Friedman/fiee= $=ia

(d) RobertsonAHEHA
Ans. (a) : ‘TiF v’ 3 dwean gdwan soET e A
N e SReERm 2 e | R
85. Which of the following statements

CORRECT for wellare economics?

freferfiae o & @i9- W waw weamr ardymes

& for it #2

A. Any competitive equilibrium leads to a Pareto
efficient allocation of resources/fReft wferatht
T & dEET F W - T W g 2

. Competitive equilibrium does not lead to
Pareto efficient allocation of resources/ g
T & danrl #1 W2 29 e 78 a8

. Any efficient allocation can be attained by a

competitive equilibrium given the market
mechanism leading to redistribution/aram &3t

B RN T F Te Sfaan wSged 3 S

are

2 A N & T 2

D. There will be no Pareto efficient allocation of
resources in the society/FH IS H HENAl F

F1¢ - 2y ez T e

Choose the correct answer from the options
given below:

#ra faw g freedt F ¥ vl I @ WA
i

(a) AandConlyﬁﬁF‘l AFRC

(b) A, Band C only/3me A, B3l C

(c) B and C only/@aw B 3 C

(d) Cand D only/aw C 3t D

Ans. (a) : FW JdTR 3 fFE 1 @ mEr € S
s fifdl & R i 3 ameee & o G
M &R H S S 1 TR SedvE
e, wids Afvdl % sifem Peffte &0 @1 aeeve
SR F @ 4l A FROT gRem-we & v
@ W ferdl W smaig anfdw Hifodl & shuw emn
wfm 1§ fwm & qrm folg 3@ 1 Swm
whwre & e B ea = R-
(i) R ST S @ S @ T2 Eve g gl
(if) TR T F [ET I F To0 wa qe § 5
2 AV WA @ qEHAT 2

Which of the following are NOT properties of

Cobb-Douglas production function?

frafafea ¥ & Far-=ar wig- Trew IwmREs
T & 0T T &7
A. Cobb-Douglas production function is a
homogeneous production function/®id- ETeH
IEA Goid TS HAE IS o e

. Curves representing average and marginal
productivity of inputs are not downward
sloping/3a 3% sitem a diwa IEmEEW @
SRFf 53 T it Te T )

. Marginal productivity of labour and capital in
Cobb-Douglas  production  function are
functions of the capital-labour ratio/@f&-
EE I GA ° 5% S e # @i
IR Goft-51 A F G 2

. Iso-quants of Cobb-Douglas production
functions are positively sloped/®F - e
IUEA GOH & TW- IOed a5 (ImEE -
i) TAHE &Y 3§ A4l 81

Choose the correct answer from the options

given below:

Frat fau o fareedt ¥ F Wt Iw = www
e

Hﬁo

UGC NTA NET/JRF Economics Paper I, 2021

31

YCT

Scanned with CamScanner



(a) A and B only/¥aw A 3 B
(b) B and C only/&@@ B 3t C
(c) B and D only/%a@ B 3t D
(d) Cand D only/F=@ C 3t D
Ans. (c) : FA-ZTH ITEA o U eEE iR daE
AR P s@m & s s W@
wefts ¢ 98 W wm Fifz ® R wed 2 s
Fraforarlt 3o % wwe Ieweq & R 39w 3t st sm
M & 7 dm &1 T IEEA SR F) 59 TR
s foan S 8-
Q=ALC
el IrA Q @ 3ii Ladn C waw: sw ok qeft 3 s
31 A, o 3 p oA e 8 W@ o> 0,00
FA-ZTW IR GEE & frfaie 7o -
(i) FA-ZTTEE IS Goi T T e G 2
(i) F-2TH IO Tow A4 osm s g S A
Iraresh YSi- U 1 HeA 2
(iii) FT-ZTAR IWEA FEA H WU AT 3 @
T & T E
(iv) F1a-B7c8 IVEA or § af P SHTA WA TR
I T 2

87. Which of the following is TRUE for Bank
Rate?

#w 70 & =t o Prafafga F @ wf 472

(a) Bank rate is a direct instrument of credit
control/i® W W@ P = TF T
I 2

(b) Bank rate is a qualitative instrumenvdd 2
T T I9EA ($gHe) 2

(c) Bank mate is the minimum rate at which the
Central Bank Provides credit to financial
institutions  against sccurities of the
govcmmcntﬁiﬁ o T =gad =X ? Fm w
a9 sl s & a2 fde g
F O E=H & 2

(d) Increase in Bank rate by Central Bank would
increase money supply keeping other factors

constant/®Ea 9% R A gz T/ TE
fer T gu smyfd & @ o
Ans. (3) : 9% =A@ 40 &1 ©F SOd ISV ) A%
W F I HEg 93 g & IveE aw 9w D wm
It O T FEW € SN @ 9ER 49 3 9@ g
wivs 1 gufem &= g 2

r W B
[ | | B % " W an
{ | 1 ]
| ' | ;
o’ & iR R B S

Match List -1 with List-11

eit-1 = gelt- 11 gafew it

List-17git-1 List-1AgE-11

A. Convex Funetion I. Basic Variable
3l Fer TE T

B. Input-Quiput II. Use of Derivative
Analysis/3TT- Eeeficite))
ffa farveiso & W

C. Linear Programming III. Hawkins-Simon
s safin condition/gffe

GELER ]

D. Marginal Propensity IV. Demand Curve
to Consume/&tia i &5
A

Choose the correct answer from the options
given helow:

e faw g Rreedt F & wdt 3w g
(2) A-l1, B-Ill, C-I, D-IV
(b) A-l1l, B-IV, C-L, D-I1
(c) A-1V, B-l, C-III, D-I1
(d) A-IV, B-III, C-1, D-1I

Ans. (d) : ¥ Hafam gh-

TE-1 - 1
(A) 30 FelA (iv) 911 9%
(B) 3mma-frefa freemor (i) @5 T
(C) Hig= wizfiim (i) 5T =
(D) #ia swdmwafa (i) g (ERAfE) @ owdm
89. The optimum tariff means:

FEAH WY[Fh & HEeE 8

(a) Maximises 101al export sales of the imposing
country/@n] - ar & & ayel Frafa
faferat &1 sifu=fus s &1

(b) Must occur in the elastic range of the partner
country’s offer curve/fizR 29 F weE %

@ drar i & S & g

(c) Must occur in the elastic range of the tariff
imposing home country's offer curve/SIcH
T A R IW F N a% @ ArEen
Hm & i & & 2

(d) Takes account of the probability that the
partner country will retaliate with protective

measures of its own/tir T a 2W 5
T W wE W@ & aefEr 3v s =l
& T qeE & @ Sfewr F:im)
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Ans. (b) : TE7 WY[TH a¢ NYCH ¢ S S0 H IW AR
I T W A A WA GER SW o Nedd T H
FE AT AEET & AR, I F 2@ qH =N
@ feft § @, @ T & Iqes TR gHm I
T § qER @ EEM ¢, o St oW 2 &
FE ) I T, TEAT NYh Foend ¢’ T
e & ' @ P 39 g wodm @ Tl |
A e W H TANR T O gt 29 & YEd
aw & WY F@ 2

90.

Which of the following are true for the
Environmental Kuznets Curve (EKC)?

qatafte Foeew wm @dEdEn & daw o
frefafs & % -2l vt §?

A. The relationship between Income and
Envirenmental damages take the shape of an

inverted U/34 3 wafawig sf & &= @
Hay faude U S @R & o 21

EKC is applicable in case of immeversible

environmental damage/3eEEG-q Jafawiig
e & mmret o S g

. EKC holds true for global pollulanlsfﬂﬁ'ﬂﬂi
weEal & wEw F § & @

. EKC hypaothesis intends to represent a long
term relationship between economic growth

and pollution? & T Ff wEwewEn Infd
Hafz a wgaw & o9 dufafy d6 @@ & 2

Choose the correct answer from the options
given below:

dra fer my Rt @ & wft I @ www

i

(a) A and B only/Fad A 3 B

(b) A and D only/#as A 3R D

(c) A,B,Cand D/ A, B,C 3t D

(d) Cand D only/Fa@ C #HRt D
Ans. (b) : fds fagm (d9fE) &t = oo wqaw &
= & v o o ad ge 9 el s @
TF F FoLH THEONT g% Fed &) Fa-on s
e & W 8, wow # sifEEm & s sEe
IR T A9 & FAv WgE0T § gfg @M # W
sfazafts g & oS R &) o fEm § o P =S
TR T aegel T Sl & we § arg-u e &

()N
s & SRV vl FEEE &H A S 8, S8
-4 il oma T2d oI 2, WA e SR d
M T T B W A W e i i
FIACH T IR B IR F G 2

91.

Which one of the following correctly describes
the concept of 'Super Multiplier'?

frefafea § F ' aftnpors' @ deeaar = wlt

auix @ & 2

(a) Employment multiplier/AsT HUE]

(b) Interaction between multiplier and accelerator

T F e & o i G

(c) Investment multip]icrfﬂ%!l =

(d) Money mulliplicrm’ffﬂﬂi bIUE]
Ans. (b) : 1. e & 3@ W witvs few @1 g9 e
T & e e A me @ it faf @ fren R
st 3/ s @ am Ry §) e sh e @
witafem ¥ wfiat 9E (Leverage effect) Wi F@am &
T R I A S AT IR AR WD
ST w21

_ | _ 1
|-C=V §-V

sl Ks A, © @ amim sgfy, v e faw
woft 3R S i wwd Wgf(S=1-0) #1
92.

Ks

When the exchange rate changes from 1 § = Rs.
72 to 15 = Rs. 6B, then the:
Tt msiEF =5 271 3w =
. 68 ¥ uftaffy gm §

A. Rupee has depreciated

3 ¥ T § Prow @ @

. Dollar has depreciated
=fen % ea § firvez 9 2
. Rupee has appreciated
T F g & iy A 2
. Dollar has appreciated
zen & g # gfz a2
Choose the correct answer from the options

given helow:

Hrer faw o frmedt W F wdl I @ WO
Hifa:
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() A and B only/5ad A 3k B
(b) Aand Dun]yﬁﬁﬁ AFRD
(c) Band Conlyﬁﬁﬂ B sk C
(d) C and D only/&ed C 3t D

Ans. (c) : 3 =@ w @t 2 B W S =
T w0l A g fee s ) T W o S A
Tl F A A A &1 T =W S @ wuen ade
7E ¢ 6 O T & w9 7 R 56 9w =E 9
Figg A P s IEfe =T 28 1 s =2
68 # gftafda @on @ = 2fen & o9 o fivmae @ @ sk

92 & geg F gz o )

93. [Harrod-neutral technical  progress is
necessarily:
#ire fomter vt faema srfarardar

(a) Capital augmenting/gsft Hads &

(b) Growth augmenting/®3fZ Fa¥s &

(e) Labour augmenting/9q Havs 2

(d) Resource augmenting/G8ma Hara 2
Ans. () : T 4 @ & FAER AT AFA I H
s ¢ o @ R @3 w G o ww & e g e
I &1 A gaa @A AR K/Y ot 8 Al ds/di Y
3 g @ d &0z ¥ affEw § aae oad sm

1 ~ = B =
X 3 g %
I 3
) 1

TN R : Wfy aF FEET IR wn §, ug
W @ IWE IO H | AfpeRa & o
ammd § afw yafg ax e wfte ff &
wwa §

In light of the above statements, choose the

most appropriate answer from the options
given helow

Fives wa % e #, 4 T e
% ¥ wER YT I du A
(a) A iscorrect but R is not correct
A T & T R w AE 2
(b) A is not correct but R is correct
ATA T TR T
(c) Both A and R are correct and R is the correct
explanation of A/ A st R 341 W § R,
A F #d =rEm 2

(d) Both A and R are correct but R is NOT the
correct explanation of A/ A R A T &

T R, A & T =men T8 &1
Ans.(c):mﬁmmmﬁm%ﬁﬂ{
e T & o @ S T 8, i AR
TEE IUEA Fal ¢, A ag Al & IHE I FA Y

afega w0 § srmd ¢ ok sofey @8 g o 78 &
a2

5. i ; :
ForET T &1 T K/Y 3R @ A d/dt< 0 7 || :;: BT "dﬂ Bm"dg“;;i(mz“m;? ::5:;;?
THAIS Uitad o Fane g @ @ 9t It K/Y @ _
A, Allocation of resources based on cost-benefit
S o T ] aa1 ds/dt = 0 3 @ awA w0 aee-nee s e o mmEh vand W
gt 21 i s
94. Given below are two statements. one is labelled B. Unlimited deficit financing/3Tiftra afzal fam
as Assertion A and the other is labelled as ]
Reason R C. Preparing a new budget right from the
e @ o= g e ¥ o i A F v scratch/&hd A 741 T2 SER AT T
i fafeat Mg sed TR & B H: D. Preparing the budget, neglecting the history
Assertion A: There is no incentive for a profit of expenditure/eAg & Ffwra T 3T Fd [
maximising producer to supply public goods TAE AR T
afllaa A: & @ Iftean @9 At Choose the correct answer from the options
Jrzs & forg e aeped & g | given below:
#rar e T firmedt O ¥ wft I = www
wreaE T §
. ) it
Reason R : If he produces it, he is unable to
. (a) A, Band C only/&aw A, B 3R C
exclude people from consuming it and hence he
eannot charge & price (b) A, B and D only/&@d A, B 3t D
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(c) A, Cand D only/&ad A, C 3R D
(d) C and D only/¥aw C 3 D
Ans. () : YA ImRa @wed (ZBB) & ¥adq e
W@ (Peter Phyrr) 7 1970 # fFani ardafys aoifén & &m
% zZBB @1 wam 1973 ¥ fGmfi @@t A R, & Q@
siisfan § e &) wwa # v o ) e 1986
AT a9 & fft & gay § o T WA F
I & w9 & T 2000-01 ¥ A0 fFaw T fowe deon
B @ 3 1999-2000 # fFE Y ImRe Tw=A
(2.B.B) = wt a@ 3w -

(i) S-S T 90 smeita g w st smEves
(ii) B9 A 791 F92 ISR TR FE

(iii) =4 & e 2 e A G T AW FAN
96.

Which of the following would reduce the credit
creation capacity of a Commercial Bank?

frefafan § @ frm- faw & swn ofnfas
& =t 0 AT AT FHA g A ?
A. Time and Demand deposits/HEfg @ Ji S91
B. Loans/®T

C. Deposits with the Central Bank
g 4 & T s

D. Cash in hand/grg 7 F&d)

Choose the correct answer from the options
given helow:

#& faw v freedt # A w I T w@w

i

(a) AandBonnyaﬁH A FNB

(b) A and D only/&a@ A 3t D

(c) Band C only/¥a B 3k C

(d) Cand D only/&aa@ C 3t D
Ans. (d) : TOTEE d & TV GOA ST [eATeraE|
FOT ¥ FA & I 8-
1. %% 4% F | s
2. 3 | Tt
3, 3fua smrd

B o

97.  Match List -1 with List-11
wEft- | =t geft- 1 & gefea St
List-1/geit-1 List-11/gft-11
A. NIRVIK I. A project directed
T 38 R &t to provide piped
£ cooking gas to
millions of
househalds/@TE1
ofEaki & &
o @ hw wEE
T & RgieE
B. Ayushman Bharat  II. A scheme to

A TRA enhance energy
efficiency/ il
=W gfe F A
=i
C. Pradhan Mantri Urja [II. Export credit
Ganga (PMUG) insurance scheme/
WA S T frafa =or dmr @i
(% T g
D. Perform, Achieve IV. Programme related
and Trade (PAT) to health issues in
foorem, Wit @ the primary,
=R (ff T & sccondary and
tertiary sectors/
wafes, fidas @
7ias & § =rm
T A wm
Frdfwn

Choose the correct answer from the options
given below:

(a) A-l1, B-III, C-I, D-1V

(b) A-ll, B-1V, C-Ill, D-I

(c) A-lII, B-IV, C-[, D-I1

(d) A-III, B-1V, C-I1, D-I

4. = Frg foord srgam
5. &9 9% ) wra-fa A
6. 3 Al F1 HTER

7. o=

Ans.(c}:ﬁ'ﬁﬂﬁfﬁﬂ'ﬁjﬂ-
gei-1 - 11
(A) wamEsmAtsms (i) Prafa s=w &
i
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(B) STgWH ARA (v) i, Rddw
T gias &3 9
= o B O
Ftam
EALE L
(C) wa=wdt Fai m (i) @@ R @
(f.wr g+ iy ¥z W
T WA @ @
Loy
(D) ferm, wfm @ (i) Fo1 zww e
=R (feE F N @

98.

The movement from old level of expenditure
and taxation to a new and higher level is called:

= A waE & g @ @ =0 i ==

W @I 3T Hoer i o T T § 7

(a) All of the above/37dm # & ¥

(b) Concentration effect/FFH=0T 7=

(¢) Displacement effect/farenm sa=

{(d) Inspection effect/fA{&0 auE
Ans, (¢) : 399 3 FUF F [A W F 74 3 IR
T H I HEeA & faenwd wE Fed &) ferm
s @ sauron fiStE aa aget 8§ wefam 2
fts o A em: weelE o @ g & wey
T FE F Wad & fvewe § FEte 41 3 5
e 77 o1 ‘Tal g2 & 91 @@ & Ueeg o5y § ot
it WA R e & @ F W OR A a sk
Pt 3WRE § e =Y &1 AU 32 & qed ed &
W gE F 9gn s @ i IR A wEetE
Zq & aa § o=l gfx @ fem s
{Displacement effect) a1
99,

Assuming the probability of a male birth as 0.5,
find the chances that a family of 3 children will
have two boys and one girl

qEn W @AWW w05 W W, 39

dvma= & gar ' fE 3wt arer ofter o
2t uTETE | UE Wi 6t

1 2
(a) E (b} E

4
© 3 @ 3
Ans. (c) : 759 5 Fil F9r=a = 0.5
TR & o T =3
qield = 2
T = |
SYAER,

1 1 1 3
3[5"5"5) 3

100. Given below are two statements, one is labelled
as Assertion A and the other is labelled as
Reason R

e St wmaw feg o §: @ sfimaw A & w0
T forfas § 7Y 390 30 w0 R & wU
Assertion A: New capital accumulation is the

vehicle of technical progress

sfime A: o Ooh dome At @ O gl

Reason R: Technical progress is embodied in

new machines

TR R : dAa-aT yota it wyfiAl § wfife
Bt &1

In light of the above statements, choose the
correct answer from the options given below

S s R s, S fo e

H ¥ AR I0gTH I & AT Fwifa:

(a) A is false but R is true
A 35 €, AfFE R w3 )

{b) A is true but R is false
A T 2, A R s )

(c) Both A and R are true and R is the correct
explanation of A/A 3R R &1 w3 § s R,
A e e g

(d) Both A and R are true but R is NOT the
correct explanation of A/A 3t R 3 7 €,
A R, A # it = Al A

Ans. (c) : 78 §of H9ga aEAE ¥ awE ¢, S
A iy T4 weie § offm o 4 o T @
FWT AT GG & T TG I FAOT WE A F4 2
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